
١ 

 

  

  

  

  

  

  

  

  

  

  

  

  

  

   



٢ 

 

  

  

  

  

������ � 	
��� 
����
�  

 	
��� ������ 
���  

  

  

 �� ���� ��	
� �
�
��� ����   

��� ��� ��� �� 
�� 
� ������ ���  

  

����
�:  

���� ����  

  

����
� �� �
:  

��� � �� � 
!"�  

  

  

  

�!�
 ����!��� "#
 $�% &��� 	�'�(  

  

  

 ��'��!92



 ب 

 

  

  

������ � 	
��� 
����
�  

 	
��� ������ 
���  

�+�, ���� �!�
 ����!��� &��� 	�'�(  

	
��� $-�  

 �� ���� ��	
� �
�
� �� ����  

��� ��� ��� �� 
�� 
� ������ ���  

  

 .'��� ��25/06/1392     &5%�� �56 � �6�5'7�
 ���� �!�
 ����!��� 8��� "#
 $�% �'7 �99:� & ��� ;���  #�$�    ���5�

$<�� �
�= >�'"(.  

 

%�&�� �'�(� �)*�
� %�&�� ��+��� �)*�
� 

 -   ���A
 ��A
 � ��  

 -    � ��$�
�� �B��C�  

  

%�&�� �,)��* -.)/0* 1�+	��2 %�&�� �'�� �)*�
� 

 �C� ���� � ��   ����
 D��
� � ��  

    ���� ���� � ��  

  

  

  



 ج 

 

  

�2����3 ' 
�(*  

 �� 
� D� &� ���+� ����� 7
 D��E�� $�
 
����< �F� G
 & �
�# �
 7
 &E�H 7
 I�6 
�
��� &� 
� 
�# J�K�

 &��� 	�'�( D'
 &���L'��� �� ��
���= &C����'�6 M����� ���'.  

 � ��N'��� � & ���( ��� '��A M�������� M��!7��H �,�# &6 M$�
�� �B��C� � �� � ���A
 ��A
 � ��

G�
� 	
��� D'
 G��� �� 	��'�����OP�.  

 &�����Q 	��R'�� �6 � & ���( ��� '��A �,�# &6 ML�
��
�6 � 	
��
�# M���� � ��( 7
 D��E��L�� �� ����.  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



 د 

 

  

  

  

  

S����'
  �+�, ���� 
��� �����
��!�
 ����!���  & !�	
���- ���P����� 
7��  
����
������� � 	
���  � ��Q 
�O��
�

&��� 	�'�( 
��+'�� �����!  $-� T�( 	�! >���# �U
 �6 �� &P�P &��! �� 
�"� 	�'�% ���� ����6�V����
�  ��A
 � ��

 ���A
 G�! �� ��� �.  

• &��� 	�'�( D'
 �� W�N�N-�  $�
 �
���#�6 $P�Q
 � $-Q 7
 � $�
 
�! G���
 S����'
 ;���.  

• �� �
 
��X �
 ���� Y%�� &6 �O'� 	�NN-� ������Z( ['� � 7
 
��X �
 �� $�
 
�! �. 

• &��� 	�'�( �� \���� SP�F�       &5V
�
 �5% ]�5� �� �7�5� �
 �5' 8��� ^�� ]�� $<�'�� �
�6 ��O'� ��< �' ��# ;��� 	�����

 $�
 
���. 

•         G�5� �56 \�: 5+� W_�5N� � �5!�6 �5� �����! � ��Q 
�O��
� &6 `C� � �U
 D'
 ����� a�NA &�C� »   � ��5Q 
�O5��
�

 �����! « �' � »Shahrood  University  of  Technology  « ���� ��
�# d�e &6. 

• ��H $�� &6 �� &� ��
�<
 G��� ����� a�NA&��� 	�'�( �CQ
 f'� � 	 7
 \�: +� W_�N� �� ��
 
��6 �
"���Ug�   &5��� 	�5'�( 

���� �� $'���. 

•  
��7 ��%�� 7
 &� ���
�� �� M &��� 	�'�( D'
 G���
 hA
�� &�C� ��)  ��� <�6 �' ���H (     k�5Q
 � ;6
�5B $5�
 
�5! 
��X �


 $�
 
�! $'��� �=l#
. 

•  $�
 
�! 
��X �
 �' & <�' ��� �� �
�<
 �9:! W��l,
 
7�A &6 &� ���
�� �� M&��� 	�'�( D'
 G���
 hA
�� &�C� ��

 ;6
�B M ��
�7
� hQ
 $�
 
�! $'��� ���+�
 al#
 k�Q
 �.                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                    

  �����  �����  �����  �����25252525////06060606////1392139213921392                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                

������ ����������� ����������� ����������� �����  

        

        

        

        

  

  

���� ���	 

��� �� � ����� �� !����� �� � ����� �� !����� �� � ����� �� !����� �� � ����� �� !��        

•  	H W_�9-� � �U
 D'
 ����� a�NA &�C�) G�� M �
 &��'
� ��� &����6 M m� � M \�: +� W_�N�

 $�
 
�! & #�� W
n���� � �� �
n<
 ( �!�6 �� �����! � ��Q 
�O��
� &6 `C� � . SCF� D'
 �'�6

 ��! ��o &,�6�� ��C� W
��P�� �� �p N� �-� &6. 

• �!�6 ��� 7��� Y%�� ��o 	��6 &��� 	�'�( �� ��%�� ['� � � W��l,
 7
 
��X �
. 



 ه 

 

  

  


���e  

 	�'�% �� D�6 �� ����������q 	�'�% M��� ;'
�! ���R� �O'� ������� $P�A &6 ������� $P�A r' 7
 	�'�% 
�� ��

�%�6 ������� $�
�"� 	�'�% ���� s�= &6�B J��
 D'
 �6 M����� �� 
�"� �' 
��� 	�'�% 
� D�6 �� 	�'�% &� �'H �� �

 D'
 &� �!�6 �� T�( ������� �!���# s�= &6�B 
����H ��%�6 h�
�� 7
 ��' &� ���� �� ���'
 &P�P t�F# �� &�

P�P L +�� �� k��� ���< � 	�'�% �6� �'�! W
���R� u��6 
�'�( � '� �
 ;��� ��6 D� +:� 
�'�( D'
 ���� �� &

$<�� �
�= ����6 ���� .$�
 
�! & #
��( �7
�� � ��� L +�� �� �� �U
 D'
 ����6 &6 &��� 	�'�( D'
 ��.  

 	�'�% ���P����� W_���� M &P���� & �� �� �6 T�( �!���# �U
 �� s�= &6�B ����6 �
�6 ) M�O ���( &P����

 
7
��
 &P���� $��A (L� +� ��6�� �� T�( �6 L��A W_���� � . �6 L��A �Vn% W�N �� h�+�
�X'� W_���� $+:�

 &9:�� t�F# ���� hA >�� 7
 
��X �
 �6 k��� Y'7�� &��! r' �� s�= &6�B)MOC ( &� �'����+� ��� �6


 
��X �
 �6 � & �� h'��� h��� h�+�
�X'� W_���� &6 $�
 G���� &9:�� t�F# &6 ���-� hB�X� ���� >�� 7

���! �� hA . T�( �6 L��A W_���� �6 L +�� h� �
�6 �� k���� ;6
�� 7
 
��X �
 �6 
� 	�'�% ���P����� W_����

 �� hA 	�+<
� D���� >�� 7
 
��X �
 �6 &� ��! �� hQ�A �F# ��q W_���� & �� �� &� L��� �� S���� ��

��!.  

['� � �6�'7�
 �
�6 $'��� ��  �� �U
 D'
 &� L'7
��( �� �� 	H h�C-� � T�( �� 7
 ��6 � h�= �� ����6 &6 Mk��

 Y�% L� �6 �� W
���R� ��� L +�� �� 	�e $��
���#�6 �� ��6 W������ 7
 �7
�� L +�� &6 $�+� ��� L +��

�!�6 �� $6�U L +�� h� �� �� W
���R� �7
�� L +�� �� �P� ���! ��.  

  

��)," -��,":  &9:�� t�F# >�� Ms�= &6�B)MOC( &9:�� ��-�� MT�( �!���# M	�+<
� D���� >�� M

�7
�� T�( M��� T�( M T�(  

  



 و 

 

 

6

78 

h9< k�
:  ...........................................................................................................................  ١  

1- 1- W��Q &Pg+� � $���
 	H  ..................................................................................................  ١  

1- 2- &E:'���  .....................................................................................................................  ٢  

1- 2- 1 - r�P����� �����'�% 
���  ............................................................................................  ٢  

1-3 - v�� 	�'�( &���  ..............................................................................................................  ٣  

1-4 - h9< ���6 	�'�( &���  ........................................................................................................  ٤  

h9< G�� :  ..........................................................................................................................  ٥  

2- 1- &��N�  .......................................................................................................................  ٦  

2-2 - W
�U
 !��� 7
 6�B& s�=  .....................................................................................................  ٦  

2-3 - W��P�F� (�	��
� &6�B s�=  ..................................................................................................  ٦  

h9< G��:  ..........................................................................................................................  ٧  

3-1 -&��N�  .........................................................................................................................  ٨  

3-2 - ��x�� �l��r &6�B s�=  ...................................................................................................  ٨  

3-4 - k���  �_
�+�&  rP�6  ....................................................................................................  ١٠  

3-5 - W_���� �'+�
�X�C� L��A �6 �%'	� q�� �������  ..........................................................................  ١٠  

3-5 -1- &P���� (�O ���  .....................................................................................................  ١٠  

3-5 -2- &P���� 
7
��
 $��A  .................................................................................................  ١٤  

3-6- T�( �� $P�A �%'	� q�� �������  .........................................................................................  ١٥  

3-6-1 ���'y T�(  ...........................................................................................................  ١٥  

3-6-2 - &6�B s�= �� T�( ��  ................................................................................................  ١٥  

3-6-3 - y=�� ������� T�(  ..................................................................................................  ١٥  

3-6-4 - B�<�W� L��A �6 T�( �� �� $P�A �%'	� q�� �������  .............................................................  ١٦  

3-6-5 - �-��� &9:�� T�( �� $P�A q�� �������  .........................................................................  ١٦  

3-7 - �-��� 6��- ��  ...........................................................................................................  ١٨  

3-7 -1- �-��� 6��-�� ��L +  .............................................................................................  ١٨  

3-7 -2- �-��� 6��-�� T�(  ................................................................................................  ١٩  



 ز 

 

3-8 - W_���� L��A �6 T�( �� �� $P�A �%'	� �������  ........................................................................  ٢٠  

3-8 -1 &P���� k���� ��  ......................................................................................................  ٢٠  

3-8 -1-1 T�(  ���  .....................................................................................................  ٢٠  

3-8 -1-2 T�( 7
���  .....................................................................................................  ٢١  

3-9 - W_���� L��A �6 T�( �� �� $P�A �%'	� q�� �������  ...................................................................  ٢١  

3-9 -1-  W_���� ��� �� T�(...............................................................................................  ٢١  

3-9 -1-1- &P���� R���W
� $��� �
���� T�(...........................................................................  ٢١  

h9< G���e  .......................................................................................................................  ٢٣  

4-1 - hA W_���� L��A �6 &6�B s�= �6 
��X �
 7
 >�� &9:��  ..............................................................  ٢٤  

4-2 - hA ���� W_���� ��'�N� &6�B s�= �6 >�� MOC  ....................................................................  ٢٥  

4-3 - >�� hA :  .................................................................................................................  ٢٦  

4-4 - 
��X �
 7
 >�� &9:�� �� 
�� T�(  .....................................................................................  ٣٣  

4-4 -1- T�(  ���  ..........................................................................................................  ٣٣  

4-4 -2- T�(  7
���  .........................................................................................................  ٣٤  

4-5 - &P���� ��k�� �� $P�A �%'	� q�� �������  ................................................................................  ٣٤  

4-5 -1- T�( ���  ...........................................................................................................  ٣٤  

4-6- >�� ���� ��D�� 	�+<
�  .................................................................................................  ٣٥  

4-6-1 -�%'	� �������  ........................................................................................................  ٣٥  

4-6-1 -1- T�( ���  .....................................................................................................  ٣٥  

4-4 -1-2- T�( 
��7�....................................................................................................  ٣٦  

4-6-2 - �%'	� q�� �������  ...................................................................................................  ٣٦  

4-6-2 -1- T�(  ���  ....................................................................................................  ٣٦  

4-6-2 -2- T�(  7
���  ...................................................................................................  ٣٨  

h9< L��(  ........................................................................................................................  ٤٠  

5-1 - &��N�  ......................................................................................................................  ٤١  

5-2 - ���'f ��OP
'L  hA W_���� L��A �6 
��X �
 7
 G�� �
n<
 $� SP  ........................................................  ٤١  

5-2 -1- G�� ��� &C�� � ��OP
'L   ...........................................................................................  ٤١  

5-3 - k�� T�( ���  ............................................................................................................  ٤٢  

5-3 -1- $P�A �%'	� �������  .................................................................................................  ٤٢  



 ح 

 

5-3 -2- $P�A �%'	� q�� �������  ............................................................................................  ٤٣  

5-4 - k�� T�( 7
���  ...........................................................................................................  ٤٦  

5-4 -1- $P�A �%'	� �������  .................................................................................................  ٤٧  

5-4 -2- $P�A �%'	� q�� �������  ............................................................................................  ٤٧  

h9< L�!  ........................................................................................................................  ٥٠  

6-1- &Ql#......................................................................................................................  ٥١  

6-2-  ��&� ����  ................................................................................................................  ٥١  

6-3- (�W
�����  .................................................................................................................  ٥٢  

 

  

  

   



 ط 

 

  

  

  

  

9'��� 6

78 

  ٤٢  .............................................................................  ی�ر  �پ  � �ژ ��م�� �����ت)  ١- ٥( �دول

  ٤٦  ..............................................................................  ی�واز  �پ  � �ژ ��م�� �����ت ٢-٥ �دول

 

   



 ي 

 

9���� 6

78 

h�! )1-1 : (
�'�( I�e �6H �� &P�P ��  .........................................................................................  ١  

h�!  )3 -1  (L�A k� �� 8�- �  ................................................................................................  ٨  

h�! )3-3  (�-������ T�( �� G��� �� P�A� D��� �� 'r T�( �6 �s = 1270	rpm &6 �B��$ ���C�� T�( �� A���& 

��� 6������k����M8l� �
M � J���� ��n &%�� ��!.  ..........................................................................  ١٨  

h�! )3-4  (�-��� 6��-�� ��L +  ...........................................................................................  ١٩  

h�! )3-5  (�-��� 6��- �� T�(  .............................................................................................  ٢٠  

h�! )3-6  (���'I T�( ���  ..................................................................................................  ٢٠  

h�! )3-7  (���'I T�( 7
���  .................................................................................................  ٢١  

h�! )4-1 (t�F# &9:�� �� &-XQ � − 
  ..................................................................................  ٢٨  

h�!)4-2 (�B��$ t�F# &9:�� 
�6� 
��  ...................................................................................  ٣٢  

h�! )4-3 (���'I T�( ���...................................................................................................  ٣٣  

h�! )4-4  (���'I T�( 7
���  .................................................................................................  ٣٤  

h�!)5-1 (���!�r ��L + |�K�( T�( ���  ...................................................................................  ٤٢  

h�!  )5 -2  ($P�A 
�'�� 7
�� ��P������ �%'	� �� $P�A ���  ..............................................................  ٤٢  

h�!  )5 -3  ($�+� ��� �
��(� 	��6 ��6 T�( � �%'	� &6 	��7  ...............................................................  ٤٣  

h�!  )5 -4 (�� &CQ�<l6 h�= T�( k�
  .........................................................................................  ٤٤  

h�!  )5 -5  (�� &CQ�<l6 ��6 T�( k�
  .........................................................................................  ٤٤  

h�! )5-6  (�� &CQ�<l6 h�= T�( G��  .........................................................................................  ٤٥  

h�!  )5 -7  (�� &CQ�<l6 ��6 T�( G��  .........................................................................................  ٤٥  

h�!)5-8  (���!�r ��L + |�K�( T�( 7
���  .................................................................................  ٤٦  

h�!  )5 -9  ($P�A 
�'�� 7
�� ��P������ �%'	� �� $P�A 7
���  .............................................................  ٤٧  

h�! )5-10 ($�+� ��� �
��(� 	��6 ��6 T�( &6 	��7  ........................................................................  ٤٧  

h�! )5-11 ($�+� ��� �
��(� 	��6 ��6 �%'	� $�+� &6 	��7  ................................................................  ٤٨  

h�!  )5 -12  (�� h�= 7
 T�(  ..................................................................................................  ٤٨  

h�! )5-13  (�� ��6 7
 T�(  ...................................................................................................  ٤٩



 

١ 

 

  

  

  '�ل اول
&��N�  



 

١ 

 

1- 1-  �< 6)��� ' �=>�� -��?  

 	H W��Q�9# &� $�
 ���'�% ���������q 	�'�% ) � ���< M �6� ( ... ��� ���R� 	��7 �6 &FN� �� ��. 

 r' 7
 	�'�% &�����7 ������� ��q 	�'�% M ��� �� ;'
�5! �5��R� ��O'� ������� $P�A &6 ������� $P�A

 
��� 	�'�% 
� D�6��)
�"�(1  ����� �� .�6H I�e �' s�= &6�B2  M &P�P t�F# �� &� $�
 
��� 	�'�% ����

 ��! ���'
 T�( ������� y=�� �' �� ��! 	�! & +6 �U
 �� ��
�� �� 
��� ��F6.  

'7 &Pg+� ��� �� 
��5� 
� 
�5'�( D'
 8�� ��
�� �� �5 . h5�!)1 -1 (�5'��O6 �5}� �� 
� . &� ��! �� ~�<

 	��7 �� &P�P ;# $�� D�'�( ��!0tt =   $��� �6 mH � 7�6 �l���0V  �!�6 $��A k�A �� . &}-P D'
 ��

 M ��� �� ���� ��! 7
 &� ���'�% $��� M ��! 	�! & +6 &�� � �� M ��! �� & +6 ������� ��F6 ��!

 I'
n<
 ��! $�( �� ���< M ����< �|��
 &6 ����% �|��
 h'��� �U
 �6 � ��� �� �XQ &6 ������� ��F6

 �6�' �� .� ��! �� u��6 ���< I'
n<
 D'
 ��� $��A &6 ^��! $�� _�6 $�� &6 ����< \�� r' & .

 &�
�
 ��# � ���6 � $<� $��A &6 	n:� � ��! D�6�� � �! ��
�# ����� 	n:� h-� �� ����< \��

 �
� ��
�# . �� 
�#_�6 � ���� �� rC� +� $��A D�A �� \�� D'
 M 8��FQ
 7
 �!�� W�XC� $C� &6 �P�

 	��71tt =  y=� � �l��� 	�'�% � �! ��
�# 	n:� ���< ��}� ^�X��
 �6 ���+� &P�P ;# ����� �� ���<

 ��! �� . &�����7 D'
�6��60tt > �1tt >  	�'�5% � $�
 $6�U 	�5�7 &56 $�+� 	�'�5% W�59:�� M �!�6

 ���� �� m�+-� ��5����5� . &� � =� �P�10 ttt <<   &6 &�P�
 $��B� 7
 ���R� k�A �� ;'
�! �!�6

 ��6 ��
�# 
��� 	�'�% � $�
 �'��� $��B�.  

  
 

 h�!)1 -1 : (�� &P�P �� �6H I�e 
�'�( 

 

  7
 � �� 	H �6
�# � T�( ��� 
�( &6 �'�! ���6�B ���'
 u��6 &P�P ;# L5 +�� r' �� ��5�< W
���R�

��! �� |�K�( L +�� 	�� <
 ���.  

 
��X �
 
�! k��� ����% �|��
 I'
n<
 u��6 &� T�( 7
 ^�X��
 vl #
 �6 &FN� �� D�6 k��� k�N �
 �
�6

��! �� . u��6 T�( ������� �!���# &� W������ u��6 
�'�( D'
 &� ��! �� L +�� �� s�= &6�B ���'


                                                           
١
 - Transient state flow 

٢- Water hammer 
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 h�P� D��� &6 ��� �� ��
� T�( & ��( ��� 
�( &6 ��'�! W�6�B &� 
�! &P�P ;# �� ����< �'�!

�!�6 �� &%�� ���� 
�'�( D'
 W
�U
.  

7
��K6 	H �6 L��A W_���� � 
�'�( D'
 ����6 &6 &� L'�! 	H �6 `�N-� D'
 �� 
"P & �� �� �6 &� L'

 W_���� D'
 ���� hA &6 u-6 ^�B�� &� T�( W_���� � 	�'�% ���P����� W_���� L'
 \
�� &P����

�!�6 �� v�F��.  

 W_���� $+:� �!�6 �� &9:�� t�F# ���� >�� &��� 	�'�( D'
 �� 
�! 
��6 ��� &6 hA >��

�� &��! r' �� s�= &6�B �6 L��A �Vn% W�N �� h�+�
�X'� ���� hA >�� 7
 
��X �
 �6 k��� Y'7

 h'��� h��� h�+�
�X'� W_���� &6 $�
 G���� &9:�� t�F# &6 &� �'����+� ��� �6 &9:�� t�F#

���! �� hA ���-� hB�X� ���� >�� 7
 
��X �
 �6 � & �� . 7
 
��X �
 �6 
� 	�'�% ���P����� W_����

 W_���� �6 L +�� h� �
�6 �� k���� ;6
�� ��q W_���� & �� �� &� L��� �� S���� �� T�( �6 L��A

��! �� hA 	�+<
� D���� >�� 7
 
��X �
 �6 &� ��! �� hQ�A �F# .  

1- 2 -  �AB	��*  

1- 2 - 1 - �
)� ��72�	
� C)='��)� 

 	�5= 7
 
�5�� �����'�% r�P����� ��P�F�17 ��5-� ���6 �� `�N-� �6 ��l�� �� �� ���Q \
�5�
��� �
 � 


 �! ^��! `�� L� ���6H �� \
��
 ��� �
 .D����1
 Z�
��_�2

   &6 &5���7 D'
 �� &5� �5���6 ���+� D� +:�

�5� #
��5( &5�P�F�  .Z5���3  k�� ��1789 k
�O �
 �
�56 ������ �!��  h5�+�
�X'� W_���� 7
 ����

 &9:�� >�� 
��H � ��� &V
�
 �Vn%)MOC ( ����� .n P�� LC�4  \
��
 $��� M $<�'�� &� ��6 �+� D�P�


 $�
 �
7H ���6H �� \�� $��� 7
 � �� &P�P h#
� mH �� ����< . 	��6 	�+��7
 �!�� 
� vl5 #
 D'
 �


 $+�
� &P�P �
�5% .�6�5 [4]  � �
� �
�= &�P�F� ���� 	�+�� ��� &P�P �� 
� L�
�� h6�= ��q k��� 	�'�%

 $��� D���� $�% ����'��7H �
� G���
 ����< \
��
 . &� $��A 
7
��
 � �O ���( W_���� �
 D��E��

 ���� &V
�
 
� �� +� ���������q �����'�% W��P�F� J��
 .����6 [10]  D���� $�% ���� � W��'��7H n��

� �����U � $�
 ����< \
��
 ���
� 7
 hN +� \�� $��� �_�
 &� $<�'�� � �
� G���
 ����< \�� $��� $��

 $�
 S��� � &P�P �
�% & �+� �_
 S'�B �6 \�� .�� W���7 [8]  �6 
� \�� $��� &� ��6 �+� D� +:�

                                                           
١
 - Newton 
٢
 - Lagrange 
٣
 - Monge 
٤
 - Helmholtz 
٥
 - Weber 
٦
 - Marey 
٧
 - Korteweg 
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 ���H $��6 k��� ���+�� � &P�P �
�% 	��6 	�+�� &6 &%�� .�������1
 [6]  ��� <
 ��6 D�P�
 �
�6

 �
� �
�= �}� �� s�= &6�B h�C-� G�O�� &6 
� ����FQ
 .��� &� ��� ~�< �
 � $�
 L�
�� h6�= ��q k

 ���
� L�N +� &F6
� $��� �6 ����FQ
 ��� <
 . k�� ��1897 ��+<���|2
 [7]  ��}� W��P�F� J��
 �6

 ���� �� �� s�= &6�B ����
 ���x� ������ �!�
n� M �
� G���
 &� ���O�'��7H � . $�% �
 &F6
� �


	��6 	�+�� 	H �� &� ���H $��6 ����< \����� �
 $���  ��6 
�! & <�� �}� �� &P�P �
�% � k��� .

���PH3 [1]  k�� ��1902  ��� �� �� 
� ��# s�= &6�B ����� ���x� . $��6 �
 &� � ��A 
7
��
 &P����

 7
 ���H  

 $!
� �� ��6 $=� M ��6 
���H $��6 �� W��� &E�H .���4 [15]  h�C-� $�% �C�C-� 5 ������ �!��


� &V
�
 s�= &6�B 	�'�% � .���P5 [9]  k�� �� L�1928  �'��� �Pg+� � ���� &V
�
 ��6��� ������ >��

 �
�= ����6 ���� 
� ����! & +�H 	�! 7�6 7
 �!�� ���< I��� D��E�� � ����! �6���� ���C�� 7
 hQ�A

 �
� .
�X'� W_���� �� 8��FQ
 &6 t�6�� �C�% 	��� &<�B
 �6 
� ����FQ
 W�XC� ��# h�C-� �� �� h�+�

 $<�� �}� �� �Vn%.  

r�
�< � ��C���6 [3]  � '� �
 �[11]   
��E�( ��� &P�P ��� L +�� �����K��� h�C-� �� >�� D'
 7


 �� <�� 
�5�6 .��� [5]  ��6 ���6 s�= &6�B �����K��� h�C-� �� 
� &9:�� >�� .�_  � '� �
 �[12]  ��

 L���� ����K��� 7
 
��X �
 �6 M 
��� 	�'�% h�C-� �� 
� &9:�� >�� ��6 D� +:� �
�6 M 8� �� �
 &P�N�

 ���
� .���� &V
�
 &9:�� >�� 
��6�� ���� � W_�N� � '� �
 ����6 . �6� � D��E��[16]  ���� ��

��� �� �� ���P����� �
�5�� �����'�%.  

1-3 - ���2 ��	�� E��  

 �� v���!�6 �� k��� Y'7�� &��! r' �� T�( �!���# �U
 �� s�= &6�B �U
 ����6 &��� 	�'�( D'
 ��.  

	n:� L +�� r' �� T�( �!���# 7
 �!�� s�= &6�B &P�+� ���� hA � �B�'� k�� &V
�
- &P�P-  T�(

�� &��� 	�'�( D'
 v�� �!�6 �� &9:�� t�F# ���� >�� �6 � �F# ��q &P�+� r' W��Q &6 &� �!�6.  

 f'��� �� 	H �
�6 
� �B�'� ��� k�� � & #
��( �7
�� � ��� W��Q &6 �� T�( 7
 ������ �6 k�� D'
 ��

L��� �� ����6 
� >�� D'
 ���� hA �.  

                                                           
١
 - Gromeka 
٢
 - Joukowsky 
٣
 - Allievi 
٤
 - Wood 
٥
- Lowy  
٦
 - Cablece & France 
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1-4 -  ���2 ��	�� ��+� G/8  

6 &6 G�� h9< �� M s�= &6�B �7�+P�� � ����6 $���
 ���� �� ����C� 	��6 7
 �( M&��� 	�'�( D'
�� 	��

��! �� & #
��( D���( D�NN-� ;��� 
�! G���
 ������ � 
�'�( D'
 �7�+P�� &E:'���.  

 W_���� &6 t�6�� W��� � �� T�( �6 L��A W_���� � 	�'�% r�P����� �6 L��A W_���� &6 G�� h9< ��

��
 
�! 	��6 �� T�( W_���� � ���P����� �C�+�
�X'� .  

�� ���� hA &6 G���e h9< �� W_���� �6 ;6
�� D'
 `�XC� � &9:�� t�F# >�� &6 ���P����� W_��

$�
 
�! & #
��( 	�+<
� D���� ���� hA &6 �� �
 �� � �� T�( .  

 
�
� f�B�� 	H �� #�� � &����6 �6 ��� ���� � $�
 
�! �<��� 
�! &��� �����K��� &����6 L��( h9< ��

$�
 
�! . � �'��P��� h9< D'
 	�'�( ��$�
 
�! &'
�
 M���"� �����K��� &����6 �6 �� 	H hA ['� �.  

$�
 
�! 	
��� ��� &�
�
 �
�6 ��
������( � 
�! &'
�
 ^�B�� D'
 ��� ��� 7
 ['� � �#�6 L�! h9< ��.  
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   '�ل دوم
  

D���( W��P�F� 
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2 - 1 -  ���H�  

 �U
 �� ���< $-� 	�'�% &P�P t�F# �� �6H I�e 	��� �' s�= &6�B �� a�X�
 �7�� ;'
�! �� W
���R�

$�
 �
� �
 k��� $��A ����7 � ����� ;'
�! � �6� W
���R�M���< D��
�= �6 � � <
 . �7�� ;'
�! &C�% 7


��� 
��!
 
��q � ��! D +6 MT�( ������� 	�! >�� �' �!���# 	
�� �� L��A . h'��� u��6 
�'�( D'


< ��� \�� ���'
 � ���< &6 	�'�% $��� W
��+# &� ��! �� ������ h��� �6 � ���6 � $<� ����

��� �� ��
� ���< $-� L +�� &6 ��'"(�� 	
��%.  

2 -2- I�3 ��
J K� ���2 -�
��  

��! �� &P�P 
7�� �� ������'� ��� �'��6�% ���'
 u��6 &P�P ;# L +�� r' �� ���< W
���R� . D'


�P�, $�% �� �� �'��6�%1 �� +� ����% � . D'
 h6�= ������� ���'
 u��6 ���
�� �� �
 
7�� ��� 
7�P

���! �� 
�� &��� �� �
 &}Al�.  

��! &P�P �� L� �' � ��'7 ������< ���'
 u��6 ��
�� �� D��E�� s�= &6�B . ���
�� �� �<�B
 ������<

P�P t�F# �O +�! u��6 � ���� ��
� t�F# W�NC� � �O'� � ����! M�� T�( &6 �'�� W��+#���! & .

 ��:�� &6 ���6 k��� ��:6 ���< &6 ���< D'
 ��
 &� ��! �� k��� k�C-� �
�� �7���
7H u��6 L� ���<

��! �� ���� k��� �'�! .�������6 &P�P �6
�# &6 ��
�� �� &P�P h#
� L� ���<.  

2 -3- I�3 ��
J ����
)� -�L=�M�  

� '� �
2 ]11 [����e �3 ]4 [D�!�� �6��� ���� ��� k��               	����e yC :� ��� $P�A �� 
� ��

��
 
��� ����6  T�( .�P���4 ]13 [ L��A ���� ��� k�� � �� D�!�� �6��� �7
��
 

� � ���'
 ���� ��

$�
 & #
��( �� 	H �6 .$����65]2 [ Y'�� 	� � �'
�% ���'
 � T�( �!���# 7
 �!�� s�= &6�B ����6 &6

$�
 & #
��( .�  $����6 $�
 
��� ����6 s�= &6�B �, 
� �� T�( ���P����� �� <  

  

  

   

                                                           
١
 - Longitudinal displacement 
٢
 - Streeter 
٣
 - Chaudhry 
٤
 - Thorely 
٥
 - Bergant 
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��)='��)� -N��L� �
�
� -N��L� '  

��	
� 
� O"�  ���  
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3 -1 -���H�  

 ����< �� � �6� �����R � S+A �6  s�= &6�B �6 L��A ���P����� W_���� f'��� &6 
� 6
 h9< D'
 ��

���� �� �
�= ����6 ���� . & #
��( ������� ��q � ������� $P�A �� T�( �6 L��A W_���� f'��� &6 �K�

��! ��                                                            .                          

3 -2- I�3 ��
J C)
." ���P*  

 
��X �
 ���� W��B�< :1( YFN� �� �� $��� Y'7�� � ��! �� ~�< ���6 r' W��96 M&P�P ;# �� k���

��! �� ~�< D�O���� $��� r' �6 � $#
���' W��96 .2 ( ���������q 	�'�% $P�A �� ����FQ
 ��� <


���FQ
 ��� <
 �6 �6
�6 M��! �� & <�� �}� �� ������� 	�'�% �� � .3 ( kl# �� � ��! �� ~�< �( &P�P

���� �� �=�6 �( ������� ��q 	�'�% .4( k��� ���< � ��� ��� �� mH 	� � �'
�% M ���������q 	�'�% ��

���� �� �=�6 k��� ��:6 ���< 7
 � ��n6 
�
��� .5( &� ��
 re�� ��N�H k��� 	��� �
7H ���7�� \�� $���

$<�� �}� �� $6�U W��96 	
�� �� 
� .6 (���! �� ~�< �F# M r� �_
 W��Q &6 k��� � &P�P �
�%.  

3 -3- ���(8 Q�� ��(!2� 6R

 ��
�0�  

  

  
 h�! )3-1  (8�- � k� �� L�A  

  

  �0A − 
P0 + ∆P�A = ρA
V0 + C��
V0 + ∆V + C� − 
V0 + C�� → ∆P = −ρ
V0 + C�∆V																																																																																												
1 − 3� � ≥ �0	,			∆� = −��∆�																																																																																							
	2− 3� 	� = ���																																																																																																																
3 − 3� ∆� = −�� ∆�																																																																																																									
4− 3� 
  



 

٩ 

 

 &P���� ��)4 ( � ��6 ��
�# ���< I'
n<
 �6 

��� M$��� I��� &� $�
 D'
 
���� 	��� �X�� $�l�

 ���P�6 . M ��! & +6 �l��� ��! �O'� W���� &6 �' � ��! y=� � �l��� ��! $�( �� k��� ��
 k�A∆� = −�  $!
� L��
�# � ��6 ��
�# .  

   

∆� = ���0					
  

��! �:�� L +�� �� �
�6 ��N�=� �'�6 &� $�
 �� �
��( \�� $��� . k��� M �P�Oe &6 $��� D'
 �
�N�

� &P�P �
�% $��:B � �F= M&P�P YFN� & �++� �_
 k��� Mk��� ���A & �+� �_
  
�� ��pA D��E��

��
� �O +6 &P�P ��.  

 ���< I'
n<
 �6 M�!�6 r� �_
 &P�P � �'"( L�
�� &P�P h#
� k��� L��� ~�< ��
∆P k��� ��9:� G�% M

 &6ρ + ∆ρ  &6 &P�P YFN� fF� �! + ∆! �6�' �� I'
n<
 . & +6 ������� ��, &6 &P�P ��� �
 ��! ��


 
7
��
 &6 M��
� &� ���� &��� ^�� &6 & +6 &P�P M��!∆" ��� �� 
��( k�, I'
n<
. &P�P &� L��� ~�< ��


 	��7 �� 
� k�, ���R� D'

#$  k���� � ��� �' M��� G���
 &���U∆" %# �� k��� $��� ���R� M�!�6 & !
� 

&F6
� 7
 ��! h-�  

 ∆� = ∆& '( − �0 �'H �� $��6.  

  

∆� = ∆& �) − �0																																																																																																		
6− 3� 
  

 k�, �� �<�, 7

#$  �6
�6 
�! &<�B
 &P�P &6 &� �P��� G�% M��! 	�! & +6 7
 �( &���U*+� #% $�
 . �

�P�, ��6 ���R� � &P�P &6 ����� G�% �
�N� D�6 ����7�� &F6
� 	
�� ��)∆, ($A�+� �)∆-( W��96 
�

$!�� �'7.  

ρ!�٠ )� = �)∆! + ρA∆S + LA∆ρ																																																																						
٧− ٣� 
−∆VC = ∆AA + ∆ρρ 																																																																																																			
8 − 3� 
�2 = �∆�∆!! + ∆�� 																																																																																																								
9 − 3� 
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3 -4- C=�� �!)�)!
N� 9'��    

0 = ∆1∆22 = − ∆1∆∀∀ 																																																																																																			
10 − 3�  
C2 = Kρ

1 + 5KA6 5∆A∆P6 																																																																																										
11− 3� 
	� = 78�71 + 89∗;< 																																																																																																	
12 − 3� 

3 -5- ����2�� 
)T ��	
� 
� O"�  �,)�2�
U	� -N��L�  

 �� G���
 $��A 
7
��
 � �O ���( � &P���� �� J��
 �6 ���P����� �
��� ��� 	�'�% h�C-�

����. ������� W�B��X� 7
 :1 (���! �� & <�� �}� �� �F# r� �_
 W��96 k��� ��# � &P�P 
�
�% .2 (

 ~�< $#
���' &P�P YFN� �� $��� Y'7�� � 
�! & <�� �}� �� ���6 r' W��96 
��� �� k��� 	�'�%

��! �� .3 (������� ��q $P�A �
�6 L� � ������� $P�A �
�6 L� ���
�� �� ����FQ
 ��� <
 D���� ;6
�� 

����� �
�= 
��X �
 ����.  

3 -5-1- �V!
�)� �=��L�  

 	H �� &�∀  � k� �� L�A= �!�6 �� G�%.  

  

;>?@ABDt = ∂∂t F ρd∀ +H ρVdAI.KI.L 																																																																					
3 − 3� 
  

 h�! `6�F� �
 &P�P)1 (	�'�% 	H �� k��� &� M �'��O6 �}� �� 
� ��
� . �}� �� �P� �� L�A &P�P ��� �6

$�
 
�! & <�� . YFN� &�)1 ( YFN� � M �����)2 ($�
 	H �%��# . h#
� G�% &� L��� ~�< ��


M �!�6 $6�U L +��
MNOPQRST = 0  ��6 ��
�#.  

∂∂t F ρd∀ +H ρVdA = 0I.KI.L 																																																																																	
4 − 3� 



 

١١ 

 

  UVW 
*-X�YW																					   

  

  

  (2) 

   *-X  
(1)  

  

  

h�! )3 -2 (�O ���( &P���� �
�6 k� �� L�A  

  

 YFN� &6 ����� ���% �6� ��
)1 ( 
�ρAV  YFN� 7
 �%��# ���% �6� M L'��O6 �}� ��)2 ( &CQ�< �� &� YW  YFN� 7
)1 (M��
� �
�=	ρAV 
Z[\ 
ρAV�dx +   

  

F ρ
VdA� = 
ρVA�^_T − 
ρVA�`a		b.A 																																																							
17 − 3�	 c
ρAdx�∂t + ρAV + ∂∂x 
ρAV�de − ρAV = 0																																											
16− 3� c
ρAdx�∂t + ∂∂x 
ρAV�de = 0	 →		÷ de																																																				
17− 3� 	Z
gh�[T + [[\ 
ρAV� = 0																																																																																			
18− 3�   
  

�
� ;+6 �'7 W��Q &6 	
�� �� 
� &P���� D'
.  

!c�ci + �c!ci + � c�!ce + �!c�ce = 0	 
!c�ci + �c!ci + !� c�ce + �� c!ce + �! c�ce = 0																																								
19− 3� 

 �6 &F6
� L�+N� �6��  L'�
� 	��� S��� �  

1Aj∂A∂t + V∂A∂xk + 1ρ j∂ρ∂t + V∂ρ∂xk + ∂V∂x = 0																																												
20 − 3� 
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ljc!ci + � c!cek = ;!;i = !.
jc�ci + � c�cek = ;�;i = �. m !.A + ρ.ρ + ∂V∂x = 0																																																																																																	
21− 3� 

$�
 �'"( v�F��
 &P�P � �'"( L�
�� k��� �
�6.  �.ρ = P.K = 1Kj∂∂t + V ∂∂xkP																																																																																	
22 − 3� 	 n  � &P�P 
�
�% ����! 	��� ���R�o $�
 &P�P ^��!.  

  !.A = 2πrζ.πr2 = 2ζ.r 																																																																																																		
23 − 3� 
 r $�
 �P�, 	��� ���R� .s∗ L'��H �� �'7 �� 
� 
�! & X� yC :� ���� &��� ;'
�! �
�6.tu  
��X �
 �6

I�� ;6
�� 7
- $!
� L��
�# �'��6�%.  

  vw = re P																																																																																																																	
24 − 3� 
vw = E∗ jμ ∂ξ∂x + ζrk																																																																																													
25 − 3� 

  

 &F6
� �� 	�
� �
�= �6
�6 �6)3-24 ( �)3-25 ( &F6
�)3-26 (�'H �� $��6.  

  |}P = E∗ 5μ [~[\ + �|6 → 		ζ = 5 |2}�∗ P − rμ [~[\	6																																														
26− 3) !.A = 2reE∗ j ∂∂t + V ∂∂xk P − 2μ ∂2ξ∂t ∂x																																																															
27 − 3� 
  

 �'��N� 	��� D'nO'�% �6
+.-  �

�.*  &F6
� ��)3-21 ($!
� L��
�#.  
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1Kj∂∂t + V ∂∂xk P + 2reE∗ j ∂∂t + V ∂∂xk� − 2� c2�cice + c�ce= 0																														
28 − 3� j1 + 2�0<9∗kc�ci + � j1 + 2�0<9∗kc�ce − 20� c2�cice + 0 c�ce= 0																											
29 − 3� 
		�2 = 0�

1 + 0;9∗< 																																																																																																		
30 − 3� 
1ρ ∂P∂t + Vρ ∂P∂x − 2C2μ ∂2�cice + C2

∂V∂x = 0																																																						
31 − 3�	 
	Pγ = H − Z																																																																																																										
32 − 3� cP∂x = ρg j∂H∂x − ∂Z∂xk																																																																																										
33 − 3� 
	∂P∂t = ρg j∂H∂t − ∂Z∂tk																																																																																										
34− 3� 

  

 &�� $�
 YFN� �� �� &P�P ��-� G�=�.  

M$�
 	��� $P�A �� &P�P ;# 	�e
Z�[T = 0  L��
� �� �

U�VW = Sinθ �!�6 ��.  

 $�
 &P�P �� ������� ��q 	�'�% �
�6 ����� $P�A �� �O ���( h�+�
�X'� &P����.  

  cH∂t + VcH∂x − 2C2g μ ∂2�cice + C2g ∂V∂x − VSinθ = 0																																										
35 − 3� 
  

 &P����)3-35 (�!�6 �� �C� $P�A �� �O ���( &P���� . &6 $�+� $��� ��e�� $C� &6 G�� G�� 7


 ��� ����6 
� 
7�� k��� h#
�� �B�A &Cx+� �� 	�e G�� G�� 7
 � L��� �� �}�<�Q ����< \�� $���

��! �� �}�<�Q �P�, S�! D !
�� W��Q �� L��( G�� 7
 n�� � ��! �� v"A n�� L���.6 � $��� ���

 _�6 &F6
� ��
�-  L��� �� D'nO'�% 
�.  

  cH∂t + C2gA∂�∂x = 0																																																																																																		
3− 3� 
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3 -5-2 - 6"
  1K��2� �=��L�  

�� = ��																																																																																																	
37 − 3� 
�! − ��! + c
�!�ce �e� + j� + c�ce �e2 k c!ce �e − �0�;�e − �!�e&��= �!�e� .																																																																																																							
38 − 3� !c�ce + �0�; + ��!���� + �!� . = 0																																																			
39− 3� 
	�0 = ���|�|

8
																																																																																																
40 − 3� 

� . = ∂V∂t + V∂V∂x 																																																																																												
41 − 3� 
  

 &F6
� ��
"O'�% �6)3-41 ( �)3-40 ( &F6
� ��)3-39 (L'�
�:  

  

1ρ ∂P∂x + V∂V∂x + ∂V∂t + gsinθ + ��|�|
2D = 0																																														
42 − 3� � = ��
� −  �																																																																																										
43 − 3� c�ce = �� jc�ce − c cek																																																																																
44 − 3� 

		c ce = &���		, c�ce = �� jc�ce − &���k																																																		
45− 3� 
� c�ce + � c�ce + c�ci + ��|�|

2; = 0																																																											
46 − 3� 
  

 &P����)3-46 ( \�� $��� &6 $�+� k��� $��� ��e�� h�P�6 �!�6 �� $��A 
7
��
 &P���� h��� h�!

��! �� �}� v�Q 	H 7
 ����<. 7
 _�6 &F6
� �� $��� ��% &6 �
�- L��� �� 
��X �
.  

  

�!c�ce + c�ci + � �|�|
2;! = 0																																																																					
47 − 3� 

  

L'��� \
�: �
 s�= &6�B �
�6 
� k��� �6 L��A ���P����� �C�+�
�X'� ;6
��.�!�6 �� �'7 W��Q &6 &�.  
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¡¢
£c�ci + �2�!c�ce = 0														
gA ∂H∂x + ∂Q∂t + f Q|Q|

2DA = 0

m 
3 -6 - ����2�� 
)T ��	
� 6=�  �� ���  

3 -6 -1 ��� X	
L*  

��
 &� ��! �� & X� ���O �� &6 T�( �C� ��, &6| k��� &6 � "#
 �%��# Y��� r' 7
 
� ������� �

��� �� k�N �
 M��� �� ���� 	H 7
 &� ��'�� .��
 W
���R� &�� � ��| ���< ���R� W��Q &6 
�
��� k��� �

�� 
����� k��� ����.  

3 -6 -2- �� ��� �� I�3 ��
J 

�� Y=�� YF= a�6 ����� T�( ��� ��
��� �' |�X'� ���  )YF= ������� a�6 �' >���# 	��� ������� T�(  (

����� &��-� 	
��� 
���� &�
��( T�( Y'�� YF= �� ���� M &6 D��� h�P� $��� 	�'�% k��� ��F6 

������� ���R� �� �6�' M � �|��
 r� ��� 7
 $P�A ���< &6 � D'
 �� M ��! �� h'��� T�( �%��# �� I�

 Y��� �6 ���#�6 �U
 �� \
��
 D'
 � M ��� �� I�( T�( �%��# &P�P �
� �
 �� ��'�! ����< \
��
 M ���R�

 ) mH Y��� ( �6� � 
��� ~�� T�( �� 
� k��� 	�'�% $�% � ���6 \�� M ��� �� $���6 � �����

 7
 M ��� $�% �� ���'n��� &�P�
 I#�e ��� $�% �� D�6��� W��Q &6 T�( � �6�' �� 	�'�% T�(

�'��� �� h�� �6H D�6��� ������ T�( ������ W�� �
�6 � �'��� �� I#�e &6 ^��! ��#.       

3 -6 -3- ��� �2�7��2 X3�*  

��'
 ������� ��q 	�'�% &P�P ;# �� ��
�� �� T�( y=�� �' � ��� &6 ^��!M�! & X� &� ��F������� �. ��

���� �� D!�� 
� T�( �K� � ����6 �� 
� �%��# ��!MT�( ��� &6 ^��! 7
 h�= h��. y=�� G�O�� ��

���� �� YF= 
� T�( &��-� ����� Y��� �K� � �����6 �� �O +�H &6 
� �%��# ��! 
� 6
 L� T�( . ��

��6 ��
�:� 7�� h��� ������� ��q 	�'�% ��
�� D'
 ��� �� .( $��� 	�e ���'�N� ������� ��q $P�A �� T�

���� �� �=�6 $6�U .� X�6 ��� 7
 ������� ��F6 T�( &�����7 �P�) ����� ������� YF= �U
 �6 �l��

&��-�( � $��� ������< �6
�6 �� ��
� 6 �'�6 &P�P ;# � $�
 m�:� � �'�! �_���� ������� ��q $P�AM

��� $���N� &CQ�A �X��.  
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 ����� YF= 7
 �( T�( h-� �� |�K�( �|��
 ��}� ^�X��
 � 	�'�% �6�M�! ��
�# L� T�( $���M&��-�

�6�' �� ��� �
 �%��# &P�P $�� D�'�( $�� &6 �X�� ���< \
��
 � �6�' �� I��� . �� $��� ���< \
��
 �

� &P�P ;# $�� D�'�( � $��_�6 �� �_���� 	�e �M�! ��
�# �� �� $�� _�6 $�� &6 I�� &P�P �

���� �� 
��( � ���6 � $<� $��A &P�P ;# �� \
��
M��!�6 �� ��%�� $6�U �� �6 	n:�. h�<��( &E���e

 ���#�6 &P�P ;# �6 �
 &FN� �� ���P����� 	�'�
�� ;#M	�'�% �'
��� $P�A �� &� �!�6 ��-� &6 &P�P ;#

=
� k�N �
 ��+� �P�, h�<��( 7
 �� D�'�( ���P����� 	�'�
�� ;# � ��� ��+� �l# ���'
 k�� A
M��! Y

�!�6 m�:� ���+6 &P�P ;# �
�6 ��
�� �� &� ��
� ��%� k�N �
 ;# 7
 &FN� 	H ��.  

3 -6 -4- ����2�� 
)T ��	
� 6=�  �� �� ��� 
� O"�  -�)J
8  

    ��! �� G���
 T�( r' 7
 �!�� ������� ��q 	�'�% �7�+P�� $�% ����
 ~�< ��. &9:�� &��'
 k�


( ��� ;6
�� &��'
 �O'� � ��!�6 �� �� �� n�� ������� ��q 	�'�% �
�6 ������� 	�'�% $P�A �� T�

�� +� a��Q 
�
��� T�( &6 t�6�� ��P��� . $!
��6 ��# T�( ��� &9:��M~�< �� D'
 &6 &%�� �6

����� �� �
�= 
��X �
 ���� ������� ��q n�P��H �
�6 � 
�! .�Q &6 �_���� �� &9:�� D'
 �6 �'���
���� W�

���! �� 
�
� �'7 ��6 �6 $������e S+A.  

  ¦ = §§¨ 																																																																																																											
48 − 3�  © = ªª¨ 																																																																																																											
49− 3�  
« = TT­ 																																																																																																											
50 − 3� 
ℎ = HH­ 																																																																																																										
51 − 3� 

3 -6 -5- ����2�� 
)T 6=�  �� ��� �/B(� �+0+�  

 	��� �
 &F6
� �'�6 ������� ��q  $P�A �� T�( �7�� ;'
�! D���� �
�6 Q ) ����< �|��
 ��}� ^�X��


T�( �6� � T�( (L�!�6 & !
�.Q MH  &6 & +6
� |�X'� ��� |�K�(N )��
��� $���( �H  W
���R� � $�


 &6 $���T )
���� m� ! ��� �� ($�
 & +6
� k��� � T�( ^���� ����'
 �.  

 � �
��( ���e �'�6 M������� ��q $P�A �� T�( r' �B�'� I'��� $�% D'
�6��6TMNMHMQ  &}-P ��

��!�6 �:��. $P�A �� T�( &9:�� ��-�� &6M�!�6 ����R � D'
 D�6 �� �
 &F6
� 
���� 	��� &� ��-��
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$�
 G���� ������� ��q. �6 ���� �
��( 7
 
��X �
 �6 � 
�
���# L� ��� T�( ;6
�� J��
 �6 �� ��-�� D'


 ��� T�( �
�6 ���H 7
 	
� 6 &� ��
 
�'��� &V
�
 ��6$<�� 
��6 yC :�.  

 ���H �� &�T  MT�( ��-� ��� ��N  �'��
 � ��
��� $���R  �� &� $�
 �F'
�! ��}� �'��N� �O����

$�
 	����
� D'� ��6 �
�
� T�( M	H)T�( �� ������� 	�'�% ��
�=�6 $P�A �� ( L +�� r' �� D'
�6��6

A �� T�( ��
��� $��� � ��� ��M��M�6� �'�6 _�6 �'
��� �6 D'
 &6 r'�n� D��� �A �� �
�'�( 	�'�% $P�

��!�6 �'��N�.  

 T�( ��9:� $��� M�� $P�A � ��6 �� ��
 ���! �� 
�
� ���H ^�� &6 & +6 T�( ��� ��-���_����

��! �� 
��X �
 &�A�� ���e 7
 r' �� �� T�( ���C�� ��� ��-�� &V
�
 � ���H ���6 & �� . ���e D'


�A�� 7
 ������� &�A��h�! �� &� J���� � k����M8l� �
M���6��� ��� &)3 -3(��
 
�! 
�
� 	���.  

 ��-� ���H �� &� ���! �� 
�
� T�( &9:�� ��� ��-�� 	
��� &6 ��-�� �� �_����x   S+A �6 i��¯1
°±�  ��-� �y  S+A �6²� = ³´µ¶·µ  � ��-�� r' ��²¸ = ¹
´µ¶·µ	�  �O'� ��-�� ��

��! �� 
��X �
 ��� �� � �� D���� $�% S���� &6 ���H 7
 &� $�
.  

 ��-�� 7
 
��X �
 �6 �� D���� $�% 	
�� �� $�
 
�! \
�: �
 �F# �6�' 	��6 7
 
��X �
 �6 �'7 &F6
� 7


��� 
��X �
 
�! 
�
� ���.  

  ℎ©2 + ¦2 = A0 + A1x	,														x = π + tan¯1 j¦©k																											
52 − 3� 
  

 ;6
�� D'
 ��!0  �A1  $��6 �'��N� 7
 
��X �
 �6M����7 G�� 	��� �
��� D�P�
 �� &� �� +� �'�� $6�U

 �
�6 
��H©  �¦  ���! �� 
�
� �
��6 �� W��Q &6 &� T�( &9:�� ��� ��-�� � h�= ����7 G�� ��

��'H �� $��6 .  
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 h�!)3 -3  ( �6 T�( r' �� D��� ��� P�A G��� �� T�( �����-���K = 1270	rpm  &�A�� �� T�( ���C�� $��B� &6

��! &%�� n�� J���� � k����M8l� �
M���6��� ���.  

  

 Y6�� 	�e ���'
 ��
»¯¼ D�6 �'��N�)-
½µ , ½µ ( G��6 �
 
�! f�-9� ���� �
��( 7
 $�
 G7_ M��� �� �� &6

X  L��� 
��X �
 . L��
�# a�< h�! &6 &9:�� ��-�� r' D��� ��9:� $��� �6 T�( �� �
�6

$!
�.  

3 -7 - ��� �+0+� -  ��  

3 -7 -1- ��� �+0+�-O!�)
 ��  

  

�¾A@AB¿À = 
HRes2 − HRes1� + fLD �2

2gA2 																																																
53− 3� 
  

 &F6
�)3-53 (�6 &� ��� �� 	��� �6�' �� I'
n<
 n�� T�( �� L +�� �� �6� I'
n<
. ��-�� L���� �6 &�

 �6 T�( 7
 �'�6 L +�� �� � ��6 �6� ���� �
�6 &� ��! �� hQ�A &�� � D'
 T�( �� � �6� S+A �6

��� 
��X �
 � ��n6 	
��.  
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h�! )3 -4  (�6� ��-��-L +�� ��  

3 -7 -2- ��� �+0+�-��� ��  

 	�e ������� $P�A ����� �� ��� I �<�� ���
�A �6 T�()1=α(�!�6 ��.  

  

¦ = �Q­ 							,					x = π + tan¯1 j �Q­k																																																						
54− 3�			 
  

 D !
� �6x  &F6
� 7
)54-3 ( 	
�� ��WH(x)  h�! 7
 
�(3-3) ���H $��6.  

  

�¾	ÂÃÀÂ = H­²�
e� j1 + 
 �Q­�2k																																																								
55− 3� 
  

 &F6
�)55-3 (�6�' �� I��� T�( �� �6� I'
n<
 �6 &� ��� �� 	���. �6� S+A �6 ��-�� L���� �6 &�

 L��
�:6 ����� �6� &e �� $6�U 	
�� �6 T�( r' 7
 
��X �
 &� ��! �� hQ�A &�� � D'
 T�( �� �

�� ��! � ��6��! �� |�K�( �� �� ^�X��
 �6 k�.  

 ;6
�� �'�6 ������� $P�A �� 	����
� D'� �6 	���H $��6 �
�6)53-3 ( �)55-3 ( �
�= �6
�6 �O'��' �6 
�

�'H $��6 &���6 �6� �� L���.  
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 h�!)3 -5  (�6� ��-��- T�( ��  

3 -8 - ����2�� ��	
� 6=�  �� �� ��� 
� O"�  -N��L�  

3 -8 -1  �=��L� �� 9��L*  

3 -8 -1-1 �

  ���  

����O6 �
�= &P�P ;# r' �� L� �� $�( �� T�( &� ��! �� & X� �� +�� &6 . ��� T�( 7
 ����� �6�

 ��!�6 �� ��' ���
� = �1 = �2 = ⋯� ���! �� Y�% �O'��' �6 �� T�( �� 
�! ���'
 �� �P�.  

  

  
h�! )3 -6  (��� T�( I'���  

 

   C` = §¨1§¨Å 																																																																																																												
54− 3� 
�Æ = HRes1 − fLD ¦2Q­1

2

2gA2 + Ç�H­`
1 + C`2¦2�ÈA0` + A1`x`Éa
` − ∆H`C`2¦|¦|τ`2 Ë − HRes2

= 0																																																																																																																			
55− 3� 
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3 -8 -1-2 �K��� ���  

�!�6 �� W��X � T�( �� 
�! ���'
 ��� �� � �� $�+� &6 �� �6� �7
�� ��� T�( �� . �� � �� ^���� �

��! �� 
�! yC� �!�6 �� �6
�6 �7
�� ��� T�( ��.  

  

  
h�! )3 -7  (�7
�� T�( I'���  

  

  

�Æ` = HRes1 − fLD È∑ ¦ÍQ­ÍÎÏ É2

2gA2 + H­`
1 + ¦`2�ÈA0` + A1`x`É − ∆H`¦Ð|¦`|τ`2− HRes2 = 0																																																																						
56 − 3� 
  

  

 ���H �� &�∆�0 ������� 	�'�% $P�A �� ��! �� �� $<
) �6� �6ÑÒ  �τ = 1 ($�
.  

3 -9-  ����2�� 
)T ��	
� 6=�  �� �� ��� 
� O"�  -N��L�  

3 -9-1-  ��� �'�!(� -N��L�  

3 -9-1-1 - ��� �2��'� 6R

 -�
))\* �=��L�  

 � �
 &'�
7 m� ! m�pCQ�A �6
�6 	
��� k�A �� L+% r' �
�6 
���� m� ! ��� �� ��F= ����'
 	���

$�
 
��#�e L +��.  

  

	Ó = −Ô dÕdi 	→ ²Ö×2� dωdt 			 , Õ = �Ù 2�
60
©		, Ó = «. ÓÙ 																			
57 − 3� 	 
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Ú  � $�
 �
 &'�
7 $���W  � $�
 T�( �� >��� k�A �� k��� � T�( 
��#�e W��F= 	7� ^���� ÒÛ $�
 
���� 	
��� G�% 	���
�'| ^��! . 
�! k���
 ��� �� D�6 �'7 h�+�
�X'� &P���� D��E��T  �

 T�( ��
��� $���Ú ��� �� �
�=�6 &F6
�.  

  

Ó = −ÔÂÃÀÂ dÕdi ,																							ω = 2πN
60

																																																			
58− 3� 
  

 
�'7 ��! hA ���� ���� k
�O �
 W��Q &6 �'�6 &F6
� D'
Ý	  	�'�% �6� &6 & +6 � $�
 	��7 7
 ��6��

��� �� ���R�. 	��7  7
 ���� ���� k
�O �
 �� &N�7�o 
���= 7
 
��X �
 �6 &F6
� D'
 &E���e
   �P

¼ 

$!
� L��
�# ��! & !��.  

  

1

2
ÈT
t0� + T
t1�É
t1 − t0� = −Iß_àß 2π

60
ÈN
t1� − N
t0�É															
59 − 3� 

  

 � ��! & !�� 	��� �� r' &9:�� t�F# &��! r' �
�6 ��6 �6 �'�� $��� J��
 �6 &F6
� D'
 &E���e

$!
� L��
�# ��!�6 h�= ����7 G�� 7
 &CQ�A �'��N� �O���� �XQ �'��
 &E���e.  

 « + «0 − πN­Ôß_àß
30T­∆t 
α0 − ©� = 0																																																													
60 − 3� «©2 + ¦2 = B0 + B1x,																				x = π + tan¯1 j¦©k																													
61− 3� 

  

 a�< &F6
� 7
 &E���e¹  &F6
� 	��� � &���-�)56 (��! �� hQ�A �'7 &F6
� ��! D'nO'�% . L +�� ��

L'�
� ��� ��  � &P���� r' T�( �� �
�6 �7
�� � ��� .  

  

�ã` = 
©`2 + ¦`2� �B0` + B1` jπ + tan¯1
¦`©`k� + «0` − Cã`
©0` − ©`� 	= 0	 Transient	state	älowCã`= I` N­`T­` π

30∆t																																																																																																
63 − 3�	 
	I` = èÅ­é2 Åê 																 							i = 1, … , n																																																									
64− 3�	 
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  '�ل ()�رم
�6 L��A ���P����� W_���� ���� hA  s�= &6�B

&9:�� >�� ;���)MOC ( � k���� W_���� �

	�+<
� D���� ���� >�� �6 T�( ���5 ��  
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4-1 - �/B(� �'� K� 1��U!
� �� I�3 ��
J 
� O"�  -N��L� G   

$�
 
�! &V
�
 ���� � ��� >�� ���P����� W_���� hA �
�6.�� &9:�� >�� ��)MOC( G���
 �6

 h�+�
�X'� W_����M�F# S���� h'��� �C� h�+�
�X'� � &P���� �� &6 $��A 
7
��
 � �O ���( �Vn%

���! ��.��! �� hA &��'
� ;��� 
�! & !�� ���� � vl #
 W��Q &6 W_���� D'
 �K�. &6 >�� D'


 ��� L +�� hA $�C6�=M���< �� $<
 �U
 D <�� �}� ��MyC :� �7�� ;'
�! ���6 I�(M_�6 ��
�'�( h�P�

D !
� 
��E�(  &6�B hV�+� hA �� ��6��� D'� ��6 �
�
� ���� � vl #
 ��� >�� D�6 �� $=� D'� ��6

$�
 
�! & <�� ��� &6 s�= � &6�B h�C-� ����
n<
 G�� SCq
 �� &� ���, &6M$�
 s�= �.  

 $�
 
�! S�� ���-� G��A
 ���-� ��� 	��P
M���� � vl #
 	�E�� ���� hA ��� >�� � &����

 	�NN-� ������H ��� �� >�� D'
 7
 
��X �
 �6 s�= � &6�B � 
�'�( hA &6 ����+6. vl #
 >�� ��

 &6 W_����M�CB�X� � & ++� � &P���� &6 h�+�
�X'� W_���� L�N +� h'��� � �7�� & ++� �6 ���� �

���! �� h'��� hA h6�= ���% W_���� 7
 �
 &����� . �6 ��� D'
 ���-� ��� 	��P
 >�� �� k
�O �


��! �� G���
 ��_�6 &���� �6 �  G�� &%��M�F# h�! Y6
�� 7
 
��X �
 � �� 	��P
 ��� ����. >�� ��

 �� �7�� & ++� W_���� �F# h�! Y6�� ������� &6 � 
�%� ��� ���� k
�O �
 �6 n�� ���-� G��A


���!.  

�= &6�B � &Pg+� hA �� ���-� G��A
 �6 �� �� �� >�� ������� &6��
�� ��
��e � &N6�� s. D� +:�

���� ��6)2000($<�� ��� &6 s�= � &6�B � &Pg+� hA �
�6 
� 	��'� ��� 
�� hA ����Z( ��. &� �P��

 � $!
� ����
 $=� L� ��� $��� � D�'�( ��� �P�Oe �� ��
M��6 Y'�� ���+6 &e ��
M��� ���'
 ��

��� �� &V
�
 `�=���q ��� m
�%. ����)2002(��E�� D���( ��� & <�' h���� &6 ��O'� I��Z( �� D

$#
��( ��#.r��e � ��
��)2002( v��
��� &F6
� 7
 
��X �
 �6 s�= � &6�B � &Pg+� hA >�� �<��� &6

�� #
��( G�� &���� Y'��.$!
� h�C-� ['� � �6 �6�# `6�F� ��
�� �#�6 �� &e ��
 	��'
 ['� �) &6

�� &� \�� � &��% ��'�n� �� ��9#��
� ��%� ���'7 	�'�
( �
�
� ��
�� SCq
 �� ��
M

�'��6�%)shift(��6 ����7.����6 
��� �}� v�Q 8��FQ
 �U
 7
 ��# hA �� 	��'
 &� $�
 ��o &6 G7_. �V
|

�'���� �)2004( v��
��� G�� � k�
 &���� ��� >�� 7
 
��X �
 �6 s�= � &6�B W_���� hA &6 L�

�� #
��(.&+'�N� �6 �� 	H  >�� ��� m
�% �� <�' �� ����� ;# ��� �6�' 	��� �6 �� &9:�� >�� �

$�
 ����� �6�' 	��� �6 ��� &9:�� >�� ��� m
�% ������ k�
 &���� v��
���. �� 	H �O'� ��� 7


�� <�' _�6 ��
�'�( �6 � `�=�MY'�� ���+6 
� G�� &���� v��
��� >��. �'���� � �V
| ��� ['� � �� &e 	H

P�% ��� �6 hA $�
 G7_MyC :� $�
��� ������ �6 ['� � D�6 � &+'�N� �� &� $�
 D'
 $�
 &%�� S

 �
��
 �� 	��'
 hA � ��� ��6
�6 `�=� hA ['� � �6 ���
�A ����< �� �� ���� G���
 r' ���A �� � �
���
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$+�� `�=�M� �� $�
���.'
�! �� 
� ��# ����� � &�P�F� ['� � �� 	H &� 	H D�B ��%� 8��FQ
 &� �F

��
 
���� ��o &P�N� ��M�!�6 & !
�. ��������� 	�'�% h�C-� �
�6 
� v��
��� >�� ��O'� D�NN-�MD��E��

��
 
��6 ��� &6  �
7H fF� �6 `�� L� 	�'�% � �7�< �� 	�'�%MmlB�< �� . >�� 7���
 &6 �� �� X� &�� 7


 �� &9:��)characteristics method(��� &��! �6  ;'
�! h�C-� �
�6 �n��H $�N<�� ��F6 M$6�U

��� �� ���6 mH k�N �
 t�F# � �� &��! �� 	�'�% �V
��� .  

��� �� ���6 mH k�N �
 t�F# � �� &��! �� 	�'�% �V
��� ;'
�! h�C-�. �� 	�'�% �V
��� h�C-� G�O��

 
��X �
M$�
��� t�! h��� ��B�
 G�� $C� &6MmH k�N �
 t�F# � �� &��! ���
 �6������ ��� >�� 7


�!�6 �� �'"(�� m�� %
. $�
 
�! &V
�
 D�NN-� ;��� �XC :� �F#��q � �F# �6������ ���!�� D'
�6��6

��
 & <� ���6 s�= &6�B r��l� ;6
�� �� &��H D�B �6������ ��� >�� D'
 ���
 �� &� . &6�B

s�=)water hammer(_��� k�N �
 t�F#�� &� $�
 �
 
�'�( $��A 
7
��
 ������� W
���R� �U
 ��MW

��� �� ��� & +6 � 7�6 ����� �� 	�'�% . &6 � 
�! h'��� ����< W
���R� &6 $��A 
7
��
 W
���R� D'


����6 D�6 7
 � & �� rC� +� ����< ��� \�� W��Q. &� 
��� ��������� 	�'�% r' 
��H 	
�� ��MD'
�6��6

�� �� ��� ������� 	�'�% �� D�6��� ��
"O���M�. &'�}� 7
 
��X �
 �6 s�= &6�B hV�+� hA �_����

r� �_
)Elastic theory(��'"( �� 	�'�% ���6 r' $P�A ��  

4-2-  �'� �� I�3 ��
J ��	
H* -N��L� ���R G MOC 

 &P�P 	��� k��� $��� _���� &��'
 $C� &6(V)  \�� $��� �6 &+'�N� ��(C)  $�
 	��� �}�<�Q h6�=

��  hA h6�= ����� &6 &9:�� t�F# >�� �6 &� M	�'�% r�P����� W_���� ��'�N� W��Q 7
 	
��

�� ��� 
��X �
 ��!�6 .�� $�+= D'
 ��  W��Q &6 &� 
� ��'�N� W_���� 	H L��
�#)4-1 (�)4-2 (

�� L�'��� hA &9:�� t�F# >�� �6 M��!�6.  

  

    )1 = [Æ[T + ì2ê [í[\ = 0																																																																																
1 − 4� 
2 − 4�	                                                                       2 0
2

V VH V
L g f

x t D

∂ ∂
= + + =

∂ ∂
  

  

 �6 M$��A 
7
��
 � �O ���( �V�% h�+�
�X'� W_���� 
� 6
 >�� D'
 �� W_���� &6 �'����+� ���

�� h'��� h��� h�+�
�X'� �� hA f'�Q ���-� hB�X� >�� &C���6 �K� � ���! ���!.  

�� h�C-� &���
�% W��Q &6 &P�P 7
 $�+= �� >�� D'
 �� 	�e S���� 
��E�( hV�+� hA �
�6 M��!  ��

$�
 .
7�6 &� $�
 D'
 >�� D'
 S�� & �P
 $�+� �'�6 ����� � ����7 ���  �Q�# S���� �
�
� L� &6
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7�6 h�P� D'
 &6 � ��!�6 ���! m�: �
 &P�+� ���6
 &6 & +6
� �'�6 ����7 ��� . ��P�P"� W_���� $'��� ��

���
� 7��� &�P�
 ;'
�! � �7�� ;'
�! &6 hA $�% ���"� . M���"� ������� ��q 	�'�% �
�6 &�P�
 ;'
�!

P�A �� r'� � �n�( ^�X��
 � �6� �'��N�$�
 ������� $ . D���� &P�+� W��Q &6 &%�� �6 n�� �7�� ;'
�!

�� ���!.  

4-3-  G  �'�:  

 h�+�
�X'� W_���� &� $�
 D'
 v��)4-1 ( �)4-2 (
��� h�+�
�X'� &P���� ��e �' �� &6 
�  h6�= &� ��

 L��� h'��� M��!�6 �C�C-� W��Q &6 hA)���OP
�O �
 h6�= � A
� &6 &� $�
 D'
 ��}��  W���� &6 M��!�6

��!�6 h��� h�+�
�X'� &P���� �O'� .(

�:P� � �
��( ��� D'
 �
�6λ  7
 �F# S���� r' � & <�� �}� �� 
�

 &P���� ��2 1,L L �� 	H 7
 
��X �
 �6 L'7�� . &6 

�:P� �
�N� �� �K�λ �� ��� h�+�
�X'� &P���� �� �� L

 7
 ������ &� M�O'�2 1,L L �'H $�� &6 �� +� .�� h�� �'7 W��Q &6 ��� D'
 �
�6 L���.  

  )1 + λ )2 = 0																																															 → cH∂t + C2g ∂V∂x + λ îg ∂H∂x + ∂V∂t + f V|V|
2D ï = 0																																													
3− 4� 

  

 &F6
�)4-3 ( W��Q &6 	
�� �� 
�)4 -4 (��� S���.  

  cH∂t + λ g ∂H∂x + C2g cV∂x + λ
cV∂t + fλ

V|V	|
2D = 0	 → c�ci + λ g ∂H∂x + λ îC2gλ

∂V∂x + cV∂tï + fλ
V|V|
2D = 0																																					
4− 4� 

  

 �� 
��H $��6 &F6
� &6 &%�� 7
)4-4 ( S'
�B ��
 &� �'� 	
�� ��
UðVW  M

VXVW  W����
ñ�Yò  
� 	H 	
�� �� �!�6

 h��� h�+�
�X'� &P���� r' W��Q &6) &P����M$�
 ��R � r' &6 $�+� h�+�
�X'� h��! ;N< &�

 �P���� h�+�
�X'�(��� h'��� . 7
 h�+�
�X'� &P���� �� L��� �� ���MSCF� D'
 &6 &%�� 	��6 �l�< D�P

)4 -4 (L'��H $�� &6 . S'
�B D'
 �
�6
UðVW  M

VXVW  �
�6 �
�N� �� �� L��� �� �
�= L� ���+� 
�λ  $��6

�'H.  
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λ � = �2

λ g 		→ 			 λ
2�2 = C2 → 				λ = ∓�g 																																															
5 − 4� 

  

 &F6
� `�, S���� D'
 &6)4-5( �
�6 �
�N� �� L� +�
��λ 	 &F6
� 	�eML��� 
��()4-5 ( �'��N� G��� �
7
 &6

 

�:P�λ W��Q &6 h�+�
�X'� &P���� �� 	H �� �
�N� �� D'
 ��
"O'�% 7
 ��6 a��Q)4 -6 (      �)4-7 (

 &P���� �� 7�
 L� r! 	��6 &� �'H �� $��6)4-1 (�)4-2 (��!�6 ��.  

  

λ = �g → ∂H∂t + C∂H∂x + Cg jC ∂V∂x + ∂V∂tk + fCV|V|
2gD = 0																											
6− 4� 

λ = −�g → ∂H∂t − C∂H∂x − Cg j−C∂V∂x + ∂V∂tk + fCV|V|
2gD = 0																		
7 − 4� 

  

h�+�
�X'� &P���� �� m
�% D'
�6��6)4 -6 ( �)4 -7 ( M��!�6 �� s�= &6�B h�+�
�X'� W_���� m
�% 	���

�� +�� ���� k
�O �
 h6�= ����� &6 L� W_���� D'
 �P� . &6 
�O� r' �6 ��
 &P����)4 -6 ( &� L�6�' �� ��

 ��
% = ñ�ñ
 h��� h�+�
�X'� &P���� r' &6 &P���� D'
 M�!�6) & ++� � ���� k
�O �
 h6�= � A
� &6 &�

$�
 �7�� (��! �� h'��� .&� L��
� �� 
�'7:  

  cH∂t + ∂H∂x dxdt = d�dt 																														 	∂V∂t + ∂V∂x dxdt = dVdt 																																																																																										
8 − 4� 
  

 &P���� �� D��E��)4-7 ( ��
% = − ñ�ñ
  &��'
 M$�
 &%�� h6�= �! h��� &P���� r' n�� &P���� D'
 �!�6

 ���6 ��%  L'�
"O6
ñ�ñ
  
�'7 ��� ��� ���'
 m
�% �� �CC# MW  �ò  ��# �� ��
 �  �� +� hN +� ��R � ��

;# D'
 ��� 	��'�� 
�� &� L��� GnC� D'
 &6 
� )$ = YWYò ( &� 
� �
 &F6
� �� �� 
�� D�6 	
�� �� ��!�6

 7
 
��X �
 �6$ = YWYò ��� 
��X �
 M��! �� hQ�A.  

    
�� ��� L��
� 6 
� W_���� �'��N� �� L��� ��6 &��! r' �'�6 
� 6
 ���-� hB�X� >�� �� &� L��
� ��

L'��H �� 
�! & ++� W��Q &6 &��! ��� . ��6 

�:P� �l��� &��! r' L'��� �� ��6 ���H �� &� �
 &��!

� 
� W_���� L��
� 6 &� L'��� �� ���'
 �'�� 
�� &-XQ �� ���� �L��� �7�� & ++ . 
�� �'�6 ���'
 �� ��


��)W_����( D�6 &� L'��O6 �}� �� �
 &��! ��� 
�∆�M∆
  &F6
� >

ñ�Yò = ∆W∆ò = $  L��A
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�!�6. ��p< r' �� 
� t�N� 	
�� ��� �O'� ���'
�� D'
�6��6� − 
  �
�=�6 &F6
� 	����6 � ��� I:( 

�:P�

���. ��� 
� t�N� ��� A �'�6 &�C6�
� G���
 ��! �� hQ�A &� �C��� �C�+�
�X'� W���� &� �,�F# & ��.  

$!�� 	
�� �� 
�! & X� SP�F� &6 &%�� �6:  

  

if		C = dxdt 	→ dHdt + Cg dVdt + fCV|V|
2gD = 0																																																	
9− 4� 

if		C = −dxdt 	→ 	dHdt − Cg dVdt + fCV|V|
2gD = 0																																											
10− 4� 

  

 &P���� �7�� & ++� &6 G
�=
 7
 h�=)4-9 ( �)4-10 ( S+A �6 
� 	H 
� 6
Q L�+'�� �� )
Ñ = �+ . D'


�F= ���R� t�N� �� �� L��� �� G���
 h�P� D'
 &6 
� ���) �
�= W��X � �F= �6 &P�P �� D�6 &� �'�� 
��

���
�(6� r'L�!�6 & !
� �) �}� �� �'�6 $��� �� �F= ���R� 
�� �� �!�6 $��� S+A �6 �7�� &F6
� ��


��! & <��.(  

 ;6
�� S���� D'
 &6)4-9 ( �)4 -10 ( S+A�6� )�6� ( W��Q &6)4 -11 ( �)4 -12 (���! �� h'���.  

  

	C = dxdt 	→ dHdt + CgAdQdt + fCQ|Q|
2gDA2 = 0																																																								
11 − 4� 

		C = −dxdt 	→ 	dHdt − CgAdQdt + fCQ|Q|
2gDA2 = 0																																																	
12 − 4� 

  

 &P���� k�A)4-11 ( ;# ��� 
�%¶ )
ñ�Yò = ∆W∆ò = $ (L��� �� �7�� & ++� . h�! &6)4-1  ( &%��

��!  

.  

  
 h�!)4 -1 ( &-XQ �� &9:�� t�F#e − i  

  

L R 

C + C −

P 

x 

t 

  



 

٢٩ 

 

�1 −�(∆t + CgAQ¾ − Qô∆t + fCQô|Qô|
2gDA2 = 0		 → 

�1 = �( − ��! 
�1 − �(� − ��∆i�(|�(|
2�;!2 																																																			
13 − 4� 

  

 ��� $6�U �<��� �6õ = %»+  �ö = ÷∆�µ»ø+µ  &P����)4-13 ( W��Q &6 	
�� �� 
�)4-14 ($!�� .

) M�! & X� &� ��F����∆� = %∆
 ��6 ��
�#.(  

  

B = CgA 							,										R = f∆x
2gDA2 										→	 	H¾ = Hô − B
Q¾ − Qô� − RQô|Qô|																																																							
14 − 4� 

  

 D'
7
 
��X �
 �� ����� �
�6 &F6
� W��Q &6 
� 	HMk���<)4-15 (��+'�� ��.  �¾ = C¾ − BQ¾ �1 = �( + ¸�( − Ö�(|�(|																																																																					
15− 4� ¸ = ��! 								,								Ö = �∆e
2�;!2 

  

 &P���� �7�� & ++� 7
 S���� D��� &6)4 -12 ( ;# ���%¯ )
ñ�Yò = ∆W∆ò = −$ ( ;6
��)4-16( �P
)4 -

18 (��H ��
�# $�� &6.  

ùú¯ùö∆ò − $Û- �û¯�Ò∆ò + ü$	�Ò|�Ò|µÛý-µ =    

  

H¾ = H­ + CgA 
Q¾ − Q­� − f	∆xQ­|Q­|
2gDA2 																																																
16 − 4� 

B = CgA 					,				R = f∆x
2gDA2 					→ 

H¾ = H­ + B
Q¾ − Q­� − RQ­|Q­| + ∆tg 																																													
17 − 4� H¾ = Cà − BQ¾ Cà = H­ − BQ­ − RQ­|Q­|																																																																						
18− 4� 
  

R 

C − 

P 

 



 

٣٠ 

 

 �� 
��H $��6 W_����)4 -15( �)4 -18 ( t�F# ��� �7�� & ++� &6 t�6�� S���� &6 &�%¶  �%¯ 


�� �� 
� ��!�6 ����� hA 	��n�� W��Q &6 	 .��� hA 	��n�� W��Q D'
 �� . &P���� �� D'
 ��

 W_�����¾ ��¾  S+A �6 M���"� W_���� 	��n�� hA 7
 �( &� ��!�6 ��H(MHÙM�(M�Ù  $��6

��H ���
�#.  

  

þ�1 = �1 − ¸�1H¾ = Cà + BQ¾ m 														→ 	�¾ = C¾ + Cà
2

				,					Q¾ = C¾ − Cà
2B  C¾ = Hô + BQô − RQô|Qô| Cà = H­ − BQ­− RQ­|Q­|																																																																														
19− 4� 

  

 ���6 &� 
��� ������( 8��FQ
 �U
 &���-� $=� I'
n<
 �
�6 � '� �
�Ù|�Ù|  7
�1|�Ù|  
��X �


 ���6 D��E�� ��!Qô|Qô|  7
Q¾|Qô| ��! 
��X �
 . � �6M� ��6 $=� r' D !
� �
�6 &� $�
 ��'�6

f'�Q ��q W��Q &6 &C�% D'
 �7�� & ++� ��6)
��'H 	��7 ��( L�+'��6 ���' ��! G���
�1|�1|  ��


 	�e�¾  ��q k���� �� &P���� �� 
�O �� r' 
�� �� �
�6 &� ��! �� u��6 ��� D'
 �!�6 �� k����

��
 L�!�6 & !
� �F#7
 
��X �
 
�1|�Ù|   &F6
� ���¯  ��1|�(|  &F6
� ���¶  &� ��! �� u��6

 7
 �F#��q ���O �� &��'
 	��6�¾  ��¾  
��( ��'
n<
 f'�Q �l��� $P�A &6 $�+� $=� M��! ���'


���.  

 W_���� hA ���R� D'
 k���
 �6 	���
)4-11 ( �)4 -12 (�� �� k���� �'7 W��Q &6 
��6�� 
�L� . �
�6

 &P���� �7�� & ++�)11(  ;# ���M%¶ L'�
�.  

  H¾ − Hô∆t + CgA�1 − �(∆t + fCQ¾|Qô|
2gDA2 = 0		 → 

�1 = �( − ��! 
�1 − �(� − �∆e�1|�(|
2�;!2 																																																			
20 − 4� 

¸ = ��! 					,			Ö = �∆e
2�;!2 	→ �1 = �( − ¸
�1 − �(� − Ö�1|�(|																																																											
21 − 4� �1 = �1 − ¸1�1 �1 = �( + ¸�(			,										¸1 = ¸ + Ö|�(|																																																		
22− 4� 

   



 

٣١ 

 

 &P���� �7�� & ++� �
�6 D��E��)4-12 ( ;# ���%¯ $!
� L��
�#:  

  �1 −�Ù∆t − CgAQ¾ − Q­∆t + fCQ¾|Q­|
2gDA2 = 0	 → 

�1 = �Ù + ��! 
�1 − �Ù� − �∆e�1|�Ù|
2�;!2 																																																
23 − 4� 

¸ = ��! 																								,				Ö = �∆e
2�;!2 						→ �1 = �Ù + ¸
�1 − �Ù� − Ö�1|�Ù|																																																									
24 − 4� �¾ = Cà + BàQ¾				 �À = �Ù − ¸�­				,						¸À = ¸ + Ö|�Ù|																																																		
25 − 4� ¸ = ��! 							,												Ö = �∆e

2�;!2 

  

 W_���� �� &� ��! �� 
����� S���� D'
 &6)4-22 ( �)4 -25 ( k���� �� h��! &� &P���� ��H¾ MQ¾ 

$�
 
��H $��6 ��!�6 ��. W_���� M&P���� �� D'
 	��n�� hA �6 n�� ���'
 ��H¾ MQ¾  S+A �6Hô 

M�(MH­ MQ­ ��H ���
�# $��6.  

  

þ H¾ = C¾ − B¾Q¾H¾ = Cà − BàQ¾	m 
�¾ = C¾B¾ + CàBà

1B¾ + 1Bà 									,											Q¾ = C¾ − CàB¾ + Bà 

�¾ = Hô + BQô												,					B¾ = B + R|Qô|																																												
26 − 4� �à = H­ − BQ­										,						Bà = B + R|Q­| ¸ = ��! 																											,						Ö = �∆e
2gDA2 

  

 
��H $��6 ��� k���< 7
 	
� 6 &��'
 �
� h�! `6�F� ��! 
��X �
 �����K��� �+'�� &����6 �
�6)4-2 (

��� �'��
 ���6	R	  �)  �P  ��� �'��
 7
n, i ��! �� 
��X �
 . &� ���, &6�  
���! 
���� 	���

��! �� & !�� 	H �
�6 &F6
� � �!�6 �� k���� &� $�
 ����)����� �'��
( � ��  G�� &6 t�6�� �'��


M �!�6 �� ����7)����7 �'��
.( �'��
�  Mk�A 	��7 &6 t�6��� + 1  � 
��'H 	��7 &6 t�6��� − 1 

$�
 & !"� ����7 G�� &6 t�6��.  



 

٣٢ 

 

  

  
h�!)4-2 (
�� �
�6 &9:�� t�F# $��B�  

  

 &F6
� 	
�� �� 
�! �<��� ��� �'��
 &6 &%�� �6)3-26 (&����6 �
�6 �'7 W��Q &6 
�  
��X �
 ���� �+'��

�
� �
�=). �'��
 ���6�  ��� �'��
 7
 �� � �6� &6 t�6���  �� + 1 ��! �� 
��X �
 . ���6 D��E�� #��� �'��
 7
 M� − 1  ��'  ���6Ö  ��� �'��
 7
� + 1  �� �! ��
�# 
��X �
(.  

  

� �ÐÎ¶1 = �1 − ¸1�ÐÎ¶1�ÐÎ¶1 = �À − ¸À�ÐÎ¶1	m 
Hà¶1 = C¾B¾ + CàBà

1B¾ + 1Bà 									,									Qà¶1 = C¾ − CàB¾ + Bà 

�¾ = H`¯1
a + BQ`¯1

a 										,					B¾ = B + R|Q`¯1
a |																													
27− 4� �à = �Ð¶1

Î − BQ`¶1
a 										,				Bà = B + R|Q`¶1

a | ¸ = ��! 																											,						Ö = �∆e
2gDA2 

  

 &%�� M>�� D'
 7
 
��X �
 ����6 ��
�# ��X� �'7 W��� &6.  


�! &'
�
 ;6
�� &� $!
� &%�� �'�6)4 -27 ($!�� 	
�� �� &P�P r' ����� ��� 
�� �
�6 ���� 
�. �'�� �
�6

�! ��
�# u-6 M&�
�
 �� &� L�+'�� �� ��O'� W��Q &6 
� W_���� M�7�� ;'
�! &6 &%�� �6 M t�N�. 

 S�! �
�
� &9:�� t�F#± ¼$ �� +� .6��6 $�+� `CF� ��= D'
�∆
   &6∆�  �6 &� ���� D'�6 $�


 �
�N� M����� ��� ���6 L�+N� � &P�+� ;'
�! &6 &%��∆
  &6 &%�� �6 ����7 G�� k�, � ��! �� D����

��! �� ���-� M&F6
� D'
. 

$�
 f'�Q ���-� hB�X� >�� r' M &9:�� >�� M �! &}Al� &� ��F���� . ���-� hB�X� >�� ��

7
 $+����� &� �!�6 �
�=�6 M W_���� �'
�O�� � ��
�'�( $�% M $�
��� t�! �'�6 f'�Q:  
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∆t∆x ≤ 1C																																																																																																																
28− 4� 
  

4(  �'��N� �'�6 >�� ^��! �
�6�  ��  ����7 G�� D�P�
 ��) k�A 	��7 (��!�6 G�C�� . 	��� &� �'��N� D'


 �� $�� &6 k��� Y'7�� &��! ������� hA 7
 M ��!�6 �� ���P����� h�+�
�X'� W_���� &�P�
 ;'
�!

��'H . �� �� &��! h�C-� �
�6 &� ����� � ����
n<
 G�� 7
 
��X �
 �6 
� &��! 
� 6
 	
�� �� ��� D'
 �
�6

 $�% ����� h'�< r' 	
��� &6 
� ���
n<
 G�� D'
 �%��# h'�< �K� � ���� hA ��
� ��%� ������� $P�A

�
� �
�= 
��X �
 ���� M�� &��! ������� ��q h�C-�.  

5 ( t�! �6 &� �C��� h�+�
�X'� &P���� 	�e
���T = C   &� �,�F# & �� G��� ��� $�
 
��H $��6

 	����!
∆T∆\ = 1ì � a��Q $�
 
�� D�6 
� 
�! & ++� &F6
� k��� 	
��� &6 	
�� �� D'
�6��6 M�!�6 �

 �'��
 �6 ����)� − 2	, � − 1 ( �)�, � + 1( $!�� n�� �� +�� �P
� � &� . &6 SCF� D'
 7
 
��X �
 �6

 ����7 ��� G�� 	��� � �e�� L�!�6 
��� �}� v�Q 8��FQ
 7
 &� � P�A �
�6 &� ��! �� W��U
 �����

��� �$!
� ��
�:� 
��H $��6 ��� m
�% $=� I'
n<
 �� ��U
 &��OE�� ��. &� 
�! u��6 ^�B�� D'


���
�6 �C�C-� &��� >�� r' 	
��� &6 
� &9:�� t�F# >�� �� �p�6.  

4-4- ��� 1
� �� �/B(� �'� K� 1��U!
�  

4-4-1- �

  ���  

  
 h�!)4 -3 (��� T�( I'���  

  

  F
 = H
 − C¾ + B¾¦Q­1 = 0																						�¶			&9:��	&F6
�																	
29 − 4�					 	FI = HI − C� + B�¦Q­1= 0																				�¯			&9:��	&F6
�																																										
30− 4�			 
  



 

٣٤ 

 

4-4-2- �K���  ���  

  
h�! )4 -4  (�7
�� T�( I'���  

  

  

F
 = H
 − C¾ + B¾ Ç�¦`Q­`
Î
Ð Ë																		�¶			&9:��	&F6
�																	
31 − 4� 

FI= HI − C�
− B� 	Ç�¦`Q­`

Î
Ð Ë																	�¯			&9:��	&F6
�																																									
32 − 4� 

  

i  7
 &� T�( 
�����!i=1,…,n ��� �� ���R�.  

4-5- ����2�� 
)T ��	
� 6=�  �� 9��L* �=��L�  

  4-5-1- �

 ��� 

�Æ = H
 + Ç�H`
a
` − ∆H`¦`|¦`|τ`2 Ë − HI = 0																																													
33 − 4� 

  

 W_����)4-29 (�)4-30 ( &P���� �� 
�)4-33 (L��� �� ��
"��%.  

  �Æ = �¾ − C� − 
B¾ + B��¦Q­1

+ Ç�H­`
©`2 + C`2¦2�ÈA0` + A1`x`Éa
` − ∆H`C`2¦|¦|τ`2 Ë = 0 


34 − 4� 



 

٣٥ 

 

  

4 -5-2- �7
�� T�(  

  

�Æ` = H
 + H` − ∆H`¦`|¦`|τ`2 − HI = 0																																																											
35 − 4� 
�Æ` = C¾ − C� − 
B¾ + B����¦ÍQ­Í

Î
Ï 
+ H­`
©`2 + ¦`2�ÈA0` + A1`x`É

− ∆H`¦`|¦`|τ`2 = 0			i, j = 1, … , n																																																
36 − 4� 
  

4-6-  ���8�� ^*�)2 ���R �'�  

   � D���� ���� >�� �� ���
� �
 
��E�( �C�C-� hA &� �F# ��q W_���� hA �
�6 >�� r' 	�+<


�!�6 . &� W_���� &6 $�+� T�( ��� �� � k���� W_���� 7
 &� $�
 W��Q D'�6 hA >�� �·  �α  ��

L��� �� D'nO'�% S'
�B �'���� �� � & <�� ` �� ��!�6.  

4-6-1-����2�� ��	
�  

4-6-1-1 - �

 ���  

    ��� �� ��� 	����
� D'� ��6 �6 T�( 	�e ������� 	�'�% $P�A ��)1=α ( ��� �� &P���� �( �!�6 ��

 &6 $�+� T�(α ��! �� �XQ IN ��  . &6 $�+� �� k���� &P���� 7
·  �'7 &P���� &�  L'��� �� ` ��

�'H �� $��6.  

  

�Æ� = Ç� 2C`2¦H­`ÈA0` + A1`x`Éa
` + H­`A1` − 2∆H`C`2¦τ`2 Ë − fLD 2¦Q­1

2

2gA2 = 0			 

37 − 4� ∆¦ = ���Æ� 																																																																																																													
38 − 4� 

	¦ = ¦ + ∆¦																																																																																																									
39− 4� 



 

٣٦ 

 

4-4-1-2 - �K��� ���  

  

��Ï�` = − fLD 2¦ÐQ­`2

2gA2 + 2¦ÐH­`ÈA0` + A1`x`É + H­`A1` − 2∆H`¦Ðτ`2 				��
		i = j 
5yP
 − 40 − 46 

��Ï�` = − fLD 2¦`Q­`2

2gA2 																												��
			i ≠ j																																						 5m − 40 − 46 

��
��
���1�1 		…					��1�`.												.														..													.														..													.															.��Ï�1

			…				��Ï�`��
��
�
¡�¢
�£∆¦1...∆¦Ð���

�� =
¡�¢
�£��1...��Ð���

�� 																																																									
41 − 4� 
¦1 = ¦1 + ∆¦1 		….		¦Ð = ¦Ð + ∆¦Ð																																																														
42 − 4� 

  

4-6-2- ����2�� 
)T ��	
�  

4-6-2-1- �

  ���  

    W_���� &6 $�+� T�( ��� �� � �� k���� W_���� 7
±¼M´µM	·  S'
�B �'���� � L'��� �� ` ��

L��� �� h���� 
�.  

  

�Æ = �ß − Cà − 
B¾ + Bà�¦Q­1 + Ç�H­`
©`2 + C`2¦2�ÈA0` + A1`x`Éa
` − ∆H`C`2¦|¦|τ`2 Ë

= 0																																																																																																			
34− 4� 
 �ã` = 
©`2 + C`2¦� �B0` + B1` îπ + tan¯1

C`2¦©` ï� + β0` − Cã`
α0` − ©`� = 0	 
 

FÆ� = −
B¾ + Bà�Q­1 + Ç� 2C`2¦H­`ÈA0` + A1`x`Éa
` + H­`A1`©` − 2∆H`C`2¦τ`2 Ë = 0		 


43 − 4� 
 �Æ 	` = È2©`H­`ÈA0` + A1`x`É + H­`A1`C`2¦É = 0																																					
44− 4� 
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 �!Ï�	 = È2C`2¦ÈB0` + B1`x`É + B1`©`É = 0																																																		
45 − 4� 
 �!Ï 	`	 = È2©`	ÈB0` + B1`x`É + B1`C`2¦É + Cã` = 0					��
			i = j					 5yP
 − 46 − 46 

 �!Ï 	`	 = 0																																																	��
			i ≠ j																																			 5m − 47 − 46 

 �Æ�∆¦ + �Æ 1∆©1 +⋯+�Æ 	Ð∆©Ð = −		FH																																																
48− 4� 
 FãÍ�∆ϑ+ FãÍ#	1∆α1 +⋯+ FãÍ#	`	∆α` = −FãÍ											i, j = 1, … , n												
49 − 4� 
 

��
��
�� �Æ�								�Æ 	1 				…						�Æ 	Ð�ã1�								�ã1 	1 				…						�ã1 Ð 	.															.																.												..															.																.												..															.																.												.�ãÍ�								�ãÍ 	1 				…						�ãÍ Ð ��

��
��

¡�¢
�£∆¦∆©1...∆©Ð��

�
�� =

¡�¢
�£�Æ�ã1...�ã`��

�
�� 																														
50 − 4� 

 

$�Æ� �Æ 	1 �Æ 	2�ã1� �!1 	1	 �!1 	2	�ã2� �!2 	1	 �!2 	2
% &∆¦∆©1∆©2

' = &FH�ã1�ã2

' 																																													
51 − 4� 
 ¦ = ¦ + ∆¦				©1 = ©1 + ∆©1					©2 = ©2 + ∆©2																																
52 − 4� 

  

  

 W_���� 	H hA �6 &� �'H �� �� a�< W��Q &6 S'
�B �'���� ��� T�( �� �
�6∆·M∆´¼M∆´µ 

��'H �� $��6.  

 7
 W
���R� D'� ��n6 �
�N� ��
0002 . W��9�'
 ��q �� L'�! �� ���6 G�� ��
� �!�6 � ��´¼M´µM	· 

 W
���R� 
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4-6-2-2 - �K���  ���  

  

�Æ` = C¾ − C� − 
B¾ + B����¦ÏQ­Í
Î
Ï 
+ h`H­` − ∆H`¦Ð|¦Ð|τ`2 = 0				
36− 4� 

�ã` = 
©Ð2 + ¦Ð2� �B0` + B1` jπ + tan¯1
¦Ð©Ðk� + β0` − Cã`
α0` − ©Ð� = 0 

��Ï�Ð = −
B¾ + B��Q­` + 2¦ÐH­`ÈA0` + A1`x`É + H­`A1`©Ð − 2∆H`¦Ðτ`2 				��
			i= j	 		5yP
 − 53 − 46 

 ��Ï�Ð = −
B¾ + B��Q­`																																																		��
			i ≠ j							 5m − 53 − 46 

 ��Ï Ð = È2©ÐH­`ÈA0` + A1`x`É + H­`A1`¦ÐÉ = 0							��
			i = j						 5yP
 − 54 − 46 

 		��Ï�	Ð	 = 0																																												��
			i ≠ j																																					 5m − 54 − 46 

 �!Ï�`	 = È2¦ÐÈB0` + B1`x`É + B1`©ÐÉ = 0																	��
			� = )									 5yP
 − 55 − 46 

 	�!Ï�	Ð	 = 0																																																																							��
			i ≠ j											 5m − 55 − 46 

 �!Ï 	Ð	 = È2α`ÈB0` + B1`x`É + B1`ϑ`É + Cã` = 0				��
			i = j										 5yP
 − 56 − 46 

 	�!Ï 	Ð	 = 0																																																									��
			i ≠ j																								 5m − 56 − 46 ��Ï�1
∆¦1 +⋯+ ��Ï�	Ð	∆¦Ð + �!Ï 	1∆©1 +⋯+ �!Ï 	Ð	∆©Ð= −�ÆÍ																										
57 − 4� �!Ï�1
∆¦1 +⋯+ �!Ï�	Ð	∆¦Ð + �!Ï 	1∆©1 +⋯+ �!Ï 	Ð	∆©Ð = −�ãÍ			 �, ) = 1, … , �									
58 − 4�	 
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5 -1 - ���H�  

    u-6 h9X� ��F6 h�= h9< �� &� T�( �!���# �U
 �� s�= &6�B �6 L��A W_���� 
� 6
 h9< D'
 ��

���! �� &����6 ��
� $�
 
�! .��! �� h�C-� � &'n�� 
��H $��6 ����
���� k��� ��e �6 �.  

5 -2- a= 6� ��b8� c
2 K� 1��U!
� �� O"�  -N��L� G  O!	��V=� d	
(*  

   h��! W��C�� D'
 �C� ��, &6 : �� &Pg+� h�C-� � &�P�
 ;'
�! M�7�� ;'
�! k���
 M&Pg+� ��� �����

�!�6.  

5 -2-1- O!	��V=� �,�(!� ��� c��  

�� $6�U � ���A
� L +�� 	���� �:�� 

���� �<��� �'�6 7��� ���� ���� �
��( � 
�! �<��� ���� $6�U �'��N� &�C� �'�6 G�� D'
 ��. &� D'


�!�6 �� �( ��� � hNU h��! $6�U �'��N� &� ��� �
��(.  

1 - T�( � k��� ��'n�< W��Q�9# h��! ����� �'��N� 	���� ��
� 

T�( �
 &��! L +��  r' �
�6 &Pg+� ������ W��l,
 G�� D'
 �� - &P�P- ��! �� 
�
� 	n:�.  

2 - 	��7 � 	��� ��6 �� �� I� ���6
 y'��� 

J��
 �6 L�� D'
 &� ��! �� ��-P �A
� 7
 �� D�'�( $�
��� ��� ��
�'�( t�!.  

3 - &�P�
 ;'
�! D���� 

��! �� al,
 &��! ��� 
�� G��� �� ������� 	�'�% ��
�=�6 	��7 �� 	�'�% �F'
�! &6 &�P�
 ;'
�!.  

�7�� ;'
�! k���
 

�
 
�� �� &� �!�6 �� 	�'�% $�� D�'�( � $��_�6 	n:� fF� h��! �7�� ;'
�! �� � ����� �#H � k

�!�6 �� $6�U �� 	��7 G���.  

1 - T�( 7
 ��6 � h�= �� � ��6 	��6 ��� $�+� 	���H $�� &6 h��! &Pg+� h�C-� 

2 - ['� � 
����� 

���! �� L���� ���
���� � d�e &����6 ��� �
 �� ����R � �'��N� a�< �����+� �, 7
 �(.  
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&P�+� hA 	��7)s(  hA ����7 
7�6)s(   8��FQ
 S'�B

 ���
�- ���+'�  

\�� $���)
*+(  &P�P �F=  
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    h�!)5 -2 ( �� 	��� $�
 $6�U 	��7 k�, �� 	H ���P����� 7
�� &�  
� $��_�6 	n:�  k�
 
�� ��

 �6�' �� I��� ['��� &6 k��� ���P����� 7
�� ������� $P�A �� &P�P ;# k�, �� 	�'�% �����( �6 � ���

6 n�� ���6 T�( 
�� �� � ���6 ���6 T�( &6 �� & <�' I'
n<
 T�( 
�� �� � L� +� &%
�� ��O'� I'
n<
 �

 ;'
�! 7
 �O'� ��' &� $�� D�'�( 	n:� &� �#H 
�� &6 �� & <�' I��� ['��� &6 �� 
�� D'
 7
 ��6 �

���6 $�
 �7��.  

5 -3-2- ����2�� 
)T ��	
� 6=�   

  

  
 h�! )5-3  (	��7 &6 	�'�% � T�( ��6 	��6 ���� �
��( $�+�  

  

 h�!)5-3 (��6 	��6 ��� � �
��(  &� ��� �� 	��� 
� 	�'�% � T�( &6 t�6�� )α  ( $��� &6 	�e

 & <�' I��� $��� T�( ������� �!���# $C� &6 ������� ��q 	�'�% ^��! �6 � ��
� �O +6 T�( ��
���

�6�' �� I��� n�� � �
��( D'
 . 	�'�% $���6 
���� 	��� &� ��! �� �X�� � �
��( D'
 	��7 $!"� �6

( I#�e � k����!�6 �� ��� W��Q  &6 T�( ��� 
�.  

 ��6 	��6 � �
��( )ν  ( �� � �� �6� ���� u��6 $��� I��� 	�e ��
� ��
��� $��� �6 ���N +� &F6
�

��� �� �
��� ��� L'l� S�! �6 
� ���� D'
 n�� � �
��( D'
 � ��!.  
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 h�! )5-4 (k�
 T�( h�= &CQ�<l6 ��  

  

 ³2�3 M�!�6 �� T�( �� 
���� 	���4    7
 � T�( 
���! 
���� 	���4 = ¼,… ,� ��� �� ���R� . 5 = ¼, µ 1  � T�( h�= &CQ�<l6 	��� 
���� 	���2 �!�6 �� T�( 7
 ��6 &CQ�<l6 	��� 
���� 	���.  

 h�!)5-4 (� s�= &6�B 7
 ��6 &CQ�<l6 &� ��� �� 	��� 
� ��� $P�A �� T�( 7
 h�= �� 	
n��  &6 �

�!�6 �� ����< \�� &6 $��� h'��� $C� &6 &� �6�' �� I'
n<
 ��%�� h6�= . &���U �� ������ ���� D'


��
� ����� ���� ��6 &6 &���U D'
 7
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�'�( L�� .�6�' �� I��� n�� �� 	��7 $!"� �6 h� �� � .  
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   h�!)5-5 ( &6 
� J�+-� ��'
n<
 s�= &6�B 7
 ��6 &CQ�<l6 &� ��� �� 	��� 
� k�
 T�( 7
 ��6 ��

�!�6 �� T�( �� ��%� $C� &6 &� ��
� T�( 7
 h�= $P�A �� &6��� 	��7 $�+� . ��'�N� �� 	��7 $!"� �6

!�6 �� 
�� D'
 ��6 � h�= 
�� ;'
�! 	��6 &6��� $C� &6 D'
 �!�6 �� $6�U� . �� 	H h'��� u��6 &�

��!.  

  

  
 h�!)5 -6  (G�� T�( h�= &CQ�<l6 ��  

  

 h�!)5-6( h�! &6 &6��� �F'
�! &� ��� �� 	��� 
� G�� T�( 7
 h�= ��)5-5 (��
� 
� . 	H $C� &�
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 h�!)5 -7 ( ��6 �� ��%�� h6�= �
�N� &6 �� s�= &6�B 7
 ��6 &CQ�<l6 &� ��� �� 	��� 
� G�� T�( 7


 �� I'
n<
 	��7 $!"� �6 �� W�� D'
 7
 ��6 � ��
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Abstract 

Whenever the conditions change from one steady state to another steady state, the flow 

unsteady between two steady-state flow occurs when the flow of current between a mortal or 

a quick call, based on hammer the kind of temporary flow to create a pipelines It is one of the 

causes of sudden blackouts pump water hammer phenomenon that causes extreme changes in 

fluid flow and pressure pipe systems is the first time this phenomenon was studied by 

Streeterr. This thesis examines the effects of both series and parallel systems are discussed.  

To evaluate the silencing effect of water hammer in pump with two equations , the hydraulic 

equations ( continuity equation , momentum equation ) and the equations are facing pumps . 

First partial differential equations governing fluid hammer in a distribution network using the 

numerical solution of the characteristic lines (MOC) on routes which are called characteristic 

lines become the full differential equations are solved using a finite difference numerical 

method be. 

Finally, to evaluate the model results to examine the head before and after each pump and its 

analysis explains this effect in Gets more volatile than the series system, parallel system, 

because the system changes the series heads together to But the parallel system changes the 

whole head is fixed. 

   

Keywords: Water hammer, Methode of characteristic lines (MOC), Newton Raphson method, 

Shut down pump, curve pump, series pump, parallel pump 

 


